

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
1/01/2017	Flem	2	10	FLYING LIGHT	WON	3.40	1.40	100	340	240	300	1020.0	720.0	10720
1/01/2017	Flem	3	2	CROCODILE ROCK	2nd	2.90	1.60	100		-100	10		-10.0	10710
1/01/2017	Flem	4	11	LITTLE INDIAN	WON	7.00	2.10	100	700	600	10	70.0	60.0	10770
1/01/2017	Flem	5	10	SNITZSON	WON	4.00	1.70	100	400	300	10	40.0	30.0	10800
1/01/2017	Flem	6	1	LORD ASPEN		6.00		100		-100	100		-100.0	10700
1/01/2017	Flem	7	7	ANNUS MIRABILIS	WON	3.90	2.00	100	390	290	200	780.0	580.0	11280
1/01/2017	Flem	8	1	DOMINO VITALE	WON	7.50	2.40	100	750	650	250	1875.0	1625.0	12905
7/01/2017	Cau	2	9	STRICTLY LEGIT	3rd	8.00	2.00	100		-100	10		-10.0	12895
7/01/2017	Cau	3	6	BON ROCKET		6.00		100		-100	50		-50.0	12845
7/01/2017	Warwick Farm	3	1	HARLEM LADY (NZ)		4.2		100		-100	10		-10.0	12835
7/01/2017	Cau	4	2	INVICTUM DOMINA		3.90		100		-100	50		-50.0	12785
7/01/2017	Cau	5	2	FOLK TALES		4.80		100		-100	10		-10.0	12775
7/01/2017	Cau	6	2	LYUBA	2nd	4.80	1.40	100		-100	280		-280.0	12495
7/01/2017	Warwick Farm	6	9	KINGSGUARD (NZ)	3rd	2.6		100		-100	10		-10.0	12485
7/01/2017	Cau	7	5	PLEIN CIEL	WON	2.10	1.20	100	210	110	50	105.0	55.0	12540
7/01/2017	Warwick Farm	7	2	MR MANHATTAN		3.7		100		-100	10		-10.0	12530
7/01/2017	Cau	8	4	CHANCE TO DANCE		5.00		100		-100	50		-50.0	12480
7/01/2017	Warwick Farm	8	2	ZIGGY WILLIE	3rd	4.8	1.60	100		-100	10		-10.0	12470
7/01/2017	Cau	9	5	BRADMAN	WON	9.00	2.30	100	900	800	250	2250.0	2000.0	14470
7/01/2017	Warwick Farm	9	4	HOGMANAY		5		100		-100	10		-10.0	14460
14/01/2017	Flem	1	1	WIDGEE TURF	2nd	2.40	1.20	100		-100	50		-50.0	14410
14/01/2017	Flem	2	3	VANDANCER	2nd	3.10	1.70	100		-100	50		-50.0	14360
14/01/2017	Randwick	2	4	RAIMENT	Won	2.7	1.40	100	270	170	100	270.0	170.0	14530
14/01/2017	Flem	3	8	ESSENCE OF TERROR		5.50		100		-100	250		-250.0	14280
14/01/2017	Flem	4	3	IF NOT NOW WHEN		9.00		100		-100	50		-50.0	14230
14/01/2017	Flem	5	3	GENERAL TRUCE		11.00		100		-100	100		-100.0	14130
14/01/2017	Flem	6	3	SOVIET COURAGE		4.60		100		-100	50		-50.0	14080
14/01/2017	Randwick	6	4	THEWAYWEARE (NZ)		7.5		100		-100	10		-10.0	14070
14/01/2017	Flem	7	4	GRANDE ROSSO	WON	5.00	1.90	100	500	400	300	1500.0	1200.0	15270
14/01/2017	Randwick	7	13	LOUIE SEA KAY		15		100		-100	50		-50.0	15220
14/01/2017	Flem	8	1	MASTER OF ARTS		5.50		100		-100	250		-250.0	14970
14/01/2017	Randwick	8	1	TOP STRIKER	2nd	5.5	1.80	100		-100	50		-50.0	14920
14/01/2017	Flem	9	8	RICH CHARM		5.00		100		-100	50		-50.0	14870

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
14/01/2017	Randwick	9	4	CLASSIC UNIFORM	Won	4.6	2.00	100	460	360	50	230.0	180.0	15050
21/01/2017	MV	1	3	GRATWICK	WON	6.00	1.90	100	600	500	100	600.0	500.0	15550
21/01/2017	MV	2	7	ZASORCERESS	WON	6.00	1.80	100	600	500	100	600.0	500.0	16050
21/01/2017	MV	3	1	ATLANTIC EXPRESS		5.50		100		-100	50		-50.0	16000
21/01/2017	Randwick	3	2	LYCIA		6.5		100		-100	100		-100.0	15900
21/01/2017	MV	4	1	BURNING FRONT	WON	1.60	1.10	100	160	60	50	80.0	30.0	15930
21/01/2017	MV	5	9	SWORD OF JUSTICE		7.50		100		-100	100		-100.0	15830
21/01/2017	Randwick	5	2	BURNING ENERGY (NZ)		4.2		100		-100	250		-250.0	15580
21/01/2017	MV	6	6	BIG DUKE	WON	2.05	1.30	100	205	105	50	102.5	52.5	15633
21/01/2017	Randwick	6	1	CAUTHEN'S POWER (NZ)		7		100		-100	100		-100.0	15533
21/01/2017	MV	7	3	RUNSATI		10.00		100		-100	50		-50.0	15483
21/01/2017	Randwick	7	1	ECUADOR (NZ)	Won	6	2.60	100	600	500	100	600.0	500.0	15983
21/01/2017	MV	8	2	SMART DART	WON	9.00	2.20	100	900	800	100	900.0	800.0	16783
21/01/2017	Randwick	8	3	HOGMANAY		3.7		100		-100	100		-100.0	16683
21/01/2017	MV	9	8	AMERISTRALIA	WON	2.70	1.50	100	270	170	280	756.0	476.0	17159
21/01/2017	Randwick	9	6	DEPLOY	Won	3.8	1.70	100	380	280	250	950.0	700.0	17859
26/01/2017	CAU	1	2	GILAGO		19.00		100		-100	50		-50.0	17809
26/01/2017	CAU	2	2	KENEDNA	3rd	3.20	1.40	100		-100	100		-100.0	17709
26/01/2017	Randwick	3	12	SAMANTHA	Won	6	1.90	100	600	500	250	1500.0	1250.0	18959
26/01/2017	Randwick	4	4	TAHSIN (NZ)		4.6		100		-100	50		-50.0	18909
26/01/2017	CAU	5	6	DODGING BULLETS	WON	4.00	1.90	100	400	300	250	1000.0	750.0	19659
26/01/2017	Randwick	5	13	PUMPKIN PIE	Won	2.1	1.20	100	210	110	50	105.0	55.0	19714
26/01/2017	CAU	6	2	HARD PROMISE		3.30		100		-100	100		-100.0	19614
26/01/2017	Randwick	6	1	DESTINY'S KISS	Won	2.6	1.50	100	260	160	10	26.0	16.0	19630
26/01/2017	CAU	7	3	GRANDE ROSSO	WON	3.20	2.20	100	320	220	280	896.0	616.0	20246
26/01/2017	Randwick	7	3	HANWRITTEN	Won	5.5	1.90	100	550	450	250	1375.0	1125.0	21371
26/01/2017	CAU	8	4	STELLAR COLLISION		4.20		100		-100	280		-280.0	21091
26/01/2017	Randwick	8	17	A MIST OPPORTUNITY		5.5		100		-100	100		-100.0	20991
28/01/2017	Flem	1	6	WRITE DA SCRIPT		4.60		100		-100	50		-50.0	20941
28/01/2017	Flem	2	7	NEW SUMMER NIGHT		8.50		100		-100	300		-300.0	20641
28/01/2017	Flem	3	2	OAK DOOR		4.60		100		-100	100		-100.0	20541
28/01/2017	Rosehill	3	2	INVINZABEEL		5		100		-100	100		-100.0	20441
28/01/2017	Flem	4	12	PORTMAN	WON	2.40	1.40	100	240	140	50	120.0	70.0	20511
28/01/2017	Flem	5	4	GOLDSTREAM	WON	7.00	2.20	100	700	600	300	2100.0	1800.0	22311

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
28/01/2017	Flem	6	15	FUHRYK		5.00		100		-100	100		-100.0	22211
28/01/2017	Rosehill	6	1	MUSIC MAGNATE (NZ)	Won	2	1.20	100	200	100	100	200.0	100.0	22311
28/01/2017	Flem	7	4	HELLBENT	3rd	2.35	1.40	100		-100	50		-50.0	22261
28/01/2017	Rosehill	7	7	EMBLEY	Won	4.6	1.50	100	460	360	100	460.0	360.0	22621
28/01/2017	Flem	8	9	SHOCKAHOLIC		12.00		100		-100	100		-100.0	22521
28/01/2017	Rosehill	8	5	SCARLET RAIN	Won	8	1.90	100	800	700	50	400.0	350.0	22871
28/01/2017	Flem	9	4	LONDON FOG		14.00		100		-100	50		-50.0	22821
28/01/2017	Rosehill	9	1	SEZANNE		4.4		100		-100	50		-50.0	22771
4/02/2017	Cau	1	2	ZASORCERESS		3.30		100		-100	50		-50.0	22721
4/02/2017	Randwick	1	4	MONTAUK	Won	3.5	1.90	100	350	250	250	875.0	625.0	23346
4/02/2017	Cau	2	7	SIR PROSPECTOR		4.80		100		-100	50		-50.0	23296
4/02/2017	Cau	3	5	SIR LASZLO		17.00		100		-100	50		-50.0	23246
4/02/2017	Randwick	3	2	RELIGIFY	Won	3.2	2.10	100	320	220	50	160.0	110.0	23356
4/02/2017	Randwick	4	5	DAL CIELO (NZ)	Won	2.7	1.30	100	270	170	50	135.0	85.0	23441
4/02/2017	Cau	6	10	CHAT TO MAGGIE		10.00		100		-100	50		-50.0	23391
4/02/2017	Cau	7	9	WAZZENME		16.00		100		-100	50		-50.0	23341
4/02/2017	Randwick	7	6	I AM ZELADY		4.4		100		-100	100		-100.0	23241
4/02/2017	Cau	8	2	THERMAL CURRENT	WON	7.40	1.80	100	740	640	300	2220.0	1920.0	25161
4/02/2017	Randwick	8	5	ZAUNKONIG		9		100		-100	50		-50.0	25111
4/02/2017	Cau	9	4	SMART DART	2nd	8.50	2.30	100		-100	250		-250.0	24861
4/02/2017	Randwick	9	1	DEPLOY	Won	3.7	2.10	100	370	270	50	185.0	135.0	24996
11/02/2017	Cau	1	6	HIPPARCHUS		2.90		100		-100	280		-280.0	24716
11/02/2017	Cau	2	1	ATTENTION	2nd	7.00	2.50	100		-100	100		-100.0	24616
11/02/2017	Cau	5	1	JENNIFER LYNN		5.00		100		-100	100		-100.0	24516
11/02/2017	Cau	6	1	CHAUTAUQUA	3rd	2.70	0.00	100		-100	50		-50.0	24466
11/02/2017	Cau	7	1	BLACK HEART BART	WON	3.70	1.60	100	370	270	300	1110.0	810.0	25276
11/02/2017	Cau	8	6	HUMIDOR	2nd	5.50	2.20	100		-100	300		-300.0	24976
11/02/2017	Cau	9	1	SILENT SEDITION	2nd	3.00	1.50	100		-100	50		-50.0	24926
13/02/2017	Randwick	1	7	HOGMANAY	2nd	5.5	1.60	100		-100	100		-100.0	24826
13/02/2017	Randwick	3	3	ADMIRAL JELLO		3.4		100		-100	10		-10.0	24816
13/02/2017	Randwick	5	5	IMPENDING		3.5		100		-100	250		-250.0	24566
13/02/2017	Randwick	8	11	WINX	Won	1.2	1.04	100	120	20	100	120.0	20.0	24586
13/02/2017	Randwick	9	1	DIXIE BLOSSOMS	3rd	4.4	1.80	100		-100	100		-100.0	24486
13/02/2017	Randwick	10	6	HANWRITTEN		3.8		100		-100	250		-250.0	24236

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
18/02/2017	Flem	1	3	AMPLE ON OFFA	WON	9.00	2.70	100	900	800	50	450.0	400.0	24636
18/02/2017	Flem	2	3	DUKE OF BRUNSWICK	3rd	2.40	1.20	100		-100	50		-50.0	24586
18/02/2017	Rosehill	2	2	HANDBLAST	2nd	3.7	2.00	100		-100	50		-50.0	24536
18/02/2017	Flem	3	2	SMART DART		4.20		100		-100	280		-280.0	24256
18/02/2017	Rosehill	3	1	STRAWBERRY BOY		3.7		100		-100	100		-100.0	24156
18/02/2017	Flem	5	1	LEGLESS VEUVE		3.60		100		-100	50		-50.0	24106
18/02/2017	Flem	6	3	HEY DOC	WON	3.70	1.70	100	370	270	50	185.0	135.0	24241
18/02/2017	Rosehill	6	1	PRIZED ICON		7.5		100		-100	10		-10.0	24231
18/02/2017	Flem	7	9	POST D'FRANCE	WON	7.50	1.90	100	750	650	100	750.0	650.0	24881
18/02/2017	Rosehill	7	13	DAYSEE DOOM	3rd	6	2.00	100		-100	50		-50.0	24831
18/02/2017	Flem	8	1	TERRAVISTA	WON	15.00	3.30	100	1500	1400	100	1500.0	1400.0	26231
18/02/2017	Rosehill	8	1	RED EXCITEMENT	2nd	9.5	4.00	100		-100	100		-100.0	26131
18/02/2017	Flem	9	6	ADIRONDAK		10.00		100		-100	50		-50.0	26081
18/02/2017	Rosehill	9	10	HIEROGLYPHICS	Won	4.2	1.80	100	420	320	100	420.0	320.0	26401
25/02/2017	Cau	1	5	SECOND BULLET		2.70		100		-100	50		-50.0	26351
25/02/2017	Randwick	1	1	MONTAUK	2nd	7	2.50	100		-100	50		-50.0	26301
25/02/2017	Cau	2	5	INTO ORBIT		5.00		100		-100	50		-50.0	26251
25/02/2017	Cau	3	2	FARSON	WON	2.35	1.30	100	235	135	50	117.5	67.5	26318
25/02/2017	Cau	4	4	OREGON'S DAY	3rd	5.60	1.80	100		-100	50		-50.0	26268
25/02/2017	Cau	5	1	BLACK HEART BART	WON	1.95	1.30	100	195	95	50	97.5	47.5	26316
25/02/2017	Randwick	5	3	CHETWOOD		2.3		100		-100	50		-50.0	26266
25/02/2017	Cau	6	1	STRATUM STAR	WON	6.20	2.40	100	620	520	300	1860.0	1560.0	27826
25/02/2017	Randwick	6	4	OMEI SWORD	2nd	9.5	2.50	100		-100	10		-10.0	27816
25/02/2017	Randwick	7	9	WINX	Won	1.22	1.04	100	122	22	100	122.0	22.0	27838
25/02/2017	Cau	8	2	FELL SWOOP		10.00		100		-100	200		-200.0	27638
25/02/2017	Cau	9	2	SILENT SEDITION	WON	2.05	1.30	100	205	105	50	102.5	52.5	27690
25/02/2017	Randwick	9	8	YOUR WAY (NZ)	Won	1.8		100	180	80	300	540.0	240.0	27930
4/03/2017	Flem	1	3	SWORD OF LIGHT	3rd	3.90	0.00	100		-100	50		-50.0	27880
4/03/2017	Flem	2	2	HEATHERLY	WON	1.85	1.30	100	185	85	50	92.5	42.5	27923
4/03/2017	Flem	4	4	LIAPARI		6.00		100		-100	100		-100.0	27823
4/03/2017	Randwick	4	6	HIEROGLYPHICS	2nd	5	1.70	100		-100	100		-100.0	27723
4/03/2017	Flem	5	1	IGGIMACOO		41.00		100		-100	50		-50.0	27673
4/03/2017	Randwick	5	1	CHAUTAUQUA	2nd	3.7	1.50	100		-100	100		-100.0	27573
4/03/2017	Flem	6	5	GRANDE ROSSO		4.40		100		-100	300		-300.0	27273

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
4/03/2017	Randwick	6	2	REDZEL	2nd	6	2.00	100		-100	100		-100.0	27173
4/03/2017	Flem	7	4	HEY DOC	WON	3.40	1.80	100	340	240	50	170.0	120.0	27293
4/03/2017	Flem	8	3	NORTHWEST PASSAGE		5.50		100		-100	50		-50.0	27243
4/03/2017	Randwick	8	2	ELLE LOU	Won	6.9	2.50	100	690	590	100	690.0	590.0	27833
4/03/2017	Flem	9	4	REDOUBLE		9.00		100		-100	50		-50.0	27783
4/03/2017	Randwick	9	1	ALLERGIC		4.5		100		-100	100		-100.0	27683
11/03/2017	Flem	1	10	BATTLECAMP		5.00		100		-100	100		-100.0	27583
11/03/2017	Rosehill	1	2	EXTENSIBLE	2nd	3.1	1.70	100		-100	50		-50.0	27533
11/03/2017	Flem	2	10	HURSLEY	2nd	3.10	1.40	100		-100	50		-50.0	27483
11/03/2017	Rosehill	2	5	ZELADY'S NIGHT OUT		16		100		-100	100		-100.0	27383
11/03/2017	Flem	3	5	SELENIA		12.00		100		-100	50		-50.0	27333
11/03/2017	Flem	5	3	ELLICAZOOM	2nd	7.50	2.20	100		-100	50		-50.0	27283
11/03/2017	Rosehill	5	9	ANTONIO GIUSEPPE (NZ)	2nd	2.05	2.10	100		-100	100		-100.0	27183
11/03/2017	Flem	6	9	CIRCULAR	WON	3.80	1.60	100	380	280	100	380.0	280.0	27463
11/03/2017	Rosehill	6	9	FOXPLAY	Won	1.9	1.20	100	190	90	10	19.0	9.0	27472
11/03/2017	Flem	7	1	TERRAVISTA		16.00		100		-100	200		-200.0	27272
11/03/2017	Rosehill	7	7	LA BELLA DIOSA (NZ)		10		100		-100	50		-50.0	27222
11/03/2017	Flem	8	1	STRATUM STAR		11.00		100		-100	300		-300.0	26922
11/03/2017	Rosehill	8	5	DIBAYANI (IRE)		7		100		-100	100		-100.0	26822
11/03/2017	Flem	9	12	ROCKET TOMMY	WON	3.80	2.40	100	380	280	50	190.0	140.0	26962
11/03/2017	Rosehill	9	4	VELADERO		5.5		100		-100	50		-50.0	26912
18/03/2017	Flem	1	2	CATCH A FIRE	3rd	4.80	1.90	100		-100	50		-50.0	26862
18/03/2017	Rosehill	1	3	BIG DUKE (IRE)	Won	4	2.00	100	400	300	10	40.0	30.0	26892
18/03/2017	Flem	2	3	THEANSWERMYFRIEND	WON	2.00	1.50	100	200	100	50	100.0	50.0	26942
18/03/2017	Rosehill	2	8	SAMANTHA	2nd	4.8	1.60	100		-100	50		-50.0	26892
18/03/2017	Flem	3	1	SWORD OF LIGHT		8.00		100		-100	100		-100.0	26792
18/03/2017	Rosehill	3	1	TACTICAL ADVANTAGE	3rd	2.8	1.50	100		-100	10		-10.0	26782
18/03/2017	Rosehill	4	1	HARTNELL (GB)	2nd	3.2	1.80	100		-100	100		-100.0	26682
18/03/2017	Flem	5	6	TOSEN STARDOM	2nd	1.85	1.20	100		-100	50		-50.0	26632
18/03/2017	Rosehill	5	8	WINX	Won	1.3	1.04	100	130	30	100	130.0	30.0	26662
18/03/2017	Flem	6	11	WHEAL LEISURE		5.50		100		-100	50		-50.0	26612
18/03/2017	Rosehill	6	4	INFERENCE	2nd	3.5	1.60	100		-100	10		-10.0	26602
18/03/2017	Flem	7	10	CHATEAU CHEVAL	3rd	3.60	1.90	100		-100	50		-50.0	26552
18/03/2017	Flem	8	6	HELLOVA STREET	WON	5.00	2.30	100	500	400	280	1400.0	1120.0	27672

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
18/03/2017	Rosehill	8	3	ENGLISH		7		100		-100	100		-100.0	27572
18/03/2017	Flem	9	2	REZAK		26.00		100		-100	50		-50.0	27522
18/03/2017	Rosehill	9	2	ELLE LOU		5		100		-100	50		-50.0	27472
24/03/2017	MVN	1	5	PRINCESS ARIA		7.00		100		-100	10		-10.0	27462
24/03/2017	MVN	3	1	KEN'S DREAM	2nd	2.25	1.10	100		-100	100		-100.0	27362
24/03/2017	MVN	4	1	SIRBIBLE	3rd	6.00	1.80	100		-100	50		-50.0	27312
24/03/2017	MVN	5	1	ELLICAZOOM		3.00		100		-100	50		-50.0	27262
24/03/2017	MVN	6	3	FRENCH EMOTION	2nd	9.00	1.70	100		-100	50		-50.0	27212
24/03/2017	MVN	7	1	REBEL DANE		17.00		100		-100	100		-100.0	27112
24/03/2017	MVN	8	5	HANDSOME THIEF	WON	1.30	1.10	100	130	30	10	13.0	3.0	27115
25/03/2017	MORN	1	4	CAPANNELLO		3.60		100		-100	10		-10.0	27105
25/03/2017	MORN	2	12	EL RADA		7.00		100		-100	10		-10.0	27095
25/03/2017	Rosehill	2	2	DANISH TWIST		4.6		100		-100	100		-100.0	26995
25/03/2017	MORN	3	9	SNITZELWOOD	WON	3.80	1.50	100	380	280	200	760.0	560.0	27555
25/03/2017	Rosehill	3	3	ASTRONOMOS (GB)	2nd	2.8	1.40	100		-100	100		-100.0	27455
25/03/2017	Rosehill	4	7	SPECTROSCOPE (USA)	Won	3.5	1.50	100	350	250	100	350.0	250.0	27705
25/03/2017	MORN	5	6	BACKSTREET LOVER		6.00		100		-100	10		-10.0	27695
25/03/2017	Rosehill	5	1	PRIZED ICON	2nd	6	1.90	100		-100	10		-10.0	27685
25/03/2017	MORN	6	11	FAST CASH		17.00		100		-100	50		-50.0	27635
25/03/2017	Rosehill	6	8	JAMEKA	Won	3.1	1.40	100	310	210	10	31.0	21.0	27656
25/03/2017	MORN	7	3	THE GOLD TRAIL		2.20		100		-100	50		-50.0	27606
25/03/2017	Rosehill	7	2	FOXPLAY		4		100		-100	10		-10.0	27596
25/03/2017	MORN	8	13	RED IS THE ROSE	3rd	3.70	1.60	100		-100	10		-10.0	27586
25/03/2017	Rosehill	8	7	DAYSEE DOOM	2nd	3.6	1.50	100		-100	100		-100.0	27486
25/03/2017	MORN	9	1	JUST MAGICAL		11.00		100		-100	10		-10.0	27476
25/03/2017	Rosehill	9	1	HANDBLAST		5.5		100		-100	50		-50.0	27426
1/04/2017	BEND	1	4	MARWOOD		6.00		100		-100	50		-50.0	27376
1/04/2017	BEND	2	5	SACRED SHAM	3rd	2.40	1.20	100		-100	10		-10.0	27366
1/04/2017	Randwick	3	1	BIG DUKE (IRE)	Won	2.45	1.40	100	245	145	10	24.5	14.5	27380
1/04/2017	BEND	4	9	RICHARD OF YORKE	2nd	4.00	1.50	100		-100	50		-50.0	27330
1/04/2017	Randwick	4	3	PERFECT DARE		3.8		100		-100	100		-100.0	27230
1/04/2017	BEND	5	4	LEODORO	2nd	6.00	2.40	100		-100	10		-10.0	27220
1/04/2017	Randwick	5	3	RAIMENT		2.4		100		-100	10		-10.0	27210
1/04/2017	BEND	6	11	GIVE US A GO	WON	19.00	3.80	100	1900	1800	50	950.0	900.0	28110

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
1/04/2017	BEND	7	1	BURNING FRONT		3.70		100		-100	50		-50.0	28060
1/04/2017	Randwick	7	2	GINGERNUTS (NZ)		3.2		100		-100	10		-10.0	28050
1/04/2017	BEND	8	13	NINA'S BALLERINA		9.50		100		-100	10		-10.0	28040
1/04/2017	Randwick	8	1	CHAUTAUQUA	Won	8	2.50	100	800	700	100	800.0	700.0	28740
1/04/2017	BEND	9	9	UNBREAKABLE		6.00		100		-100	250		-250.0	28490
1/04/2017	Randwick	9	2	LE ROMAIN		5		100		-100	100		-100.0	28390
8/04/2017	CAU	2	13	ROCKSTAR REBEL		3.10		100		-100	100		-100.0	28290
8/04/2017	CAU	3	6	TOFFEE NOSE	3rd	3.50	1.60	100		-100	100		-100.0	28190
8/04/2017	CAU	4	4	FONTEIN LAD		3.50		100		-100	50		-50.0	28140
8/04/2017	Randwick	4	9	POMELO		2.45		100		-100	100		-100.0	28040
8/04/2017	CAU	5	9	CRYSTAL DREAMER	WON	3.90	1.50	100	390	290	280	1092.0	812.0	28852
8/04/2017	Randwick	5	8	TRIBAL WISDOM		21		100		-100	10		-10.0	28842
8/04/2017	CAU	6	4	FALCOOL		19.00		100		-100	50		-50.0	28792
8/04/2017	Randwick	6	2	LA BELLA DIOSA (NZ)		16		100		-100	10		-10.0	28782
8/04/2017	Randwick	7	9	WINX	Won	1.2	1.04	100	120	20	100	120.0	20.0	28802
8/04/2017	Randwick	9	3	HEAVENS ABOVE		10		100		-100	50		-50.0	28752
8/04/2017	Randwick	10	2	ARTISTRY	3rd	6	2.10	100		-100	50		-50.0	28702
15/04/2017	CAU	1	5	MA JONES	WON	4.60		100	460	360	250	1150.0	900.0	29602
15/04/2017	Randwick	2	4	CANNYESCENT		4.2		100		-100	100		-100.0	29502
15/04/2017	CAU	3	19	EL SICARIO		7.50		100		-100	100		-100.0	29402
15/04/2017	Randwick	3	1	ACATOUR		2.3		100		-100	10		-10.0	29392
15/04/2017	CAU	4	9	WATERLOO SUNSET	WON	2.75	1.80	100	275	175	300	825.0	525.0	29917
15/04/2017	Randwick	4	3	REDZEL	Won	2.8	1.50	100	280	180	100	280.0	180.0	30097
15/04/2017	CAU	5	5	MOONLITES CHOICE		21.00		100		-100	50		-50.0	30047
15/04/2017	Randwick	5	4	ASTRONOMOS (GB)		3.2		100		-100	100		-100.0	29947
15/04/2017	CAU	6	3	HANS HOLBEIN	3rd	1.90	1.40	100		-100	50		-50.0	29897
15/04/2017	CAU	7	11	MISS GUNPOWDER	WON	5.50	2.20	100	550	450	280	1540.0	1260.0	31157
15/04/2017	Randwick	7	9	ENGLISH		3.8		100		-100	100		-100.0	31057
15/04/2017	CAU	8	7	HELLOVA STREET		3.70		100		-100	200		-200.0	30857
15/04/2017	Randwick	8	3	PROMPT RESPONSE		3.9		100		-100	10		-10.0	30847
15/04/2017	CAU	9	10	GOLDSTREAM		7.50		100		-100	200		-200.0	30647
15/04/2017	Randwick	9	10	DUCA VALENTINOIS (IRE)	2nd	7.5	2.40	100		-100	50		-50.0	30597
15/04/2017	CAU	10	11	THE CHAIRMAN		9.50		100		-100	100		-100.0	30497
22/04/2017	CAU	2	10	MR CHURCHILL		5.50		100		-100	50		-50.0	30447

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
22/04/2017	Randwick	2	3	I THOUGHT SO		2.4		100		-100	10		-10.0	30437
22/04/2017	CAU	3	1	BURNING FRONT	WON	1.60	1.20	100	160	60	50	80.0	30.0	30467
22/04/2017	Randwick	3	1	SIZZLING BULLET	2nd	5.5	2.50	100		-100	10		-10.0	30457
22/04/2017	CAU	4	9	RUTHVEN	2nd	2.80	1.40	100		-100	250		-250.0	30207
22/04/2017	Randwick	4	2	YOUL DASH FOR CASH		11		100		-100	10		-10.0	30197
22/04/2017	CAU	6	1	FRENCH EMOTION	WON	2.80	1.50	100	280	180	50	140.0	90.0	30287
22/04/2017	Randwick	6	8	MY PSYCHIATRIST		3.2		100		-100	200		-200.0	30087
22/04/2017	CAU	7	11	LEGLESS VEUVE	3rd	31.00	5.80	100		-100	50		-50.0	30037
22/04/2017	Randwick	7	6	NIETA	Won	2.3	1.20	100	230	130	200	460.0	260.0	30297
22/04/2017	CAU	8	5	LUCKY LIBERTY	3rd	8.00	2.60	100		-100	300		-300.0	29997
22/04/2017	Randwick	8	6	BIG DUKE (IRE)	3rd	3.7	1.90	100		-100	10		-10.0	29987
22/04/2017	CAU	9	12	SWORD OF LIGHT	WON	2.90	1.50	100	290	190	300	870.0	570.0	30557
22/04/2017	Randwick	9	1	MOSS 'N' DALE (NZ)	Won	3	0.90	100	300	200	50	150.0	100.0	30657
22/04/2017	Randwick	10	7	GRETNA	2nd	4.4	1.60	100		-100	50		-50.0	30607
25/04/2017	Flem	1	3	AMELIE'S STAR	2nd	6.50	1.90	100		-100	100		-100.0	30507
25/04/2017	Flem	2	5	HANS HOLBEIN	WON	2.00	1.40	100	200	100	50	100.0	50.0	30557
25/04/2017	Flem	3	4	PETITION	WON	1.95	1.10	100	195	95	50	97.5	47.5	30605
25/04/2017	Flem	5	8	TYPHOON MONACO	WON	4.40	1.90	100	440	340	250	1100.0	850.0	31455
25/04/2017	Flem	6	10	PARTHESIA	2nd	5.00	1.80	100		-100	50		-50.0	31405
25/04/2017	Flem	7	10	SERACENA		11.00		100		-100	100		-100.0	31305
25/04/2017	Flem	8	4	CAMDUS		9.00		100		-100	50		-50.0	31255
29/04/2017	CAU	1	4	JUDELLY		3.80		100		-100	50		-50.0	31205
29/04/2017	CAU	2	3	ZAHSPPEED		15.00		100		-100	50		-50.0	31155
29/04/2017	CAU	3	11	MR SNEAKY	WON	2.50	1.40	100	250	150	50	125.0	75.0	31230
29/04/2017	CAU	4	4	SNITTY KITTY	WON	4.20	1.60	100	420	320	100	420.0	320.0	31550
29/04/2017	CAU	6	1	ARTIE DEE TWO		7.50		100		-100	100		-100.0	31450
29/04/2017	CAU	7	10	GREY STREET	WON	4.00	1.50	100	400	300	50	200.0	150.0	31600
29/04/2017	CAU	8	4	ZEBULON		6.50		100		-100	50		-50.0	31550
29/04/2017	CAU	9	9	CURRAGH		3.80		100		-100	50		-50.0	31500
6/05/2017	Flem	1	6	SADAQA		5.50		100		-100	50		-50.0	31450
6/05/2017	Flem	2	3	DE LITTLE ENGINE	WON	2.40	1.20	100	240	140	50	120.0	70.0	31520
6/05/2017	Rosehill	3	3	OKLAHOMA GIRL	3rd	4.8	1.60	100		-100	10		-10.0	31510
6/05/2017	Flem	4	12	GIVE US A GO	3rd	14.00	4.20	100		-100	50		-50.0	31460
6/05/2017	Flem	5	4	SNEAKERS		15.00		100		-100	50		-50.0	31410

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
6/05/2017	Rosehill	5	7	CARELESS	2nd	6	2.00	100		-100	100		-100.0	31310
6/05/2017	Flem	6	2	ZASORCERESS		3.50		100		-100	100		-100.0	31210
6/05/2017	Rosehill	6	4	CHANDANA	3rd	4.6	2.10	100		-100	50		-50.0	31160
6/05/2017	Flem	7	3	WIDGEE TURF		3.50		100		-100	100		-100.0	31060
6/05/2017	Rosehill	7	4	TOP OF MY LIST	Won	8	2.00	100	800	700	100	800.0	700.0	31760
6/05/2017	Flem	8	5	CRYSTAL DREAMER	WON	4.60	2.20	100	460	360	280	1288.0	1008.0	32768
6/05/2017	Rosehill	8	3	UNTAMED DIAMOND	Won	5.9	2.20	100	590	490	250	1475.0	1225.0	33993
6/05/2017	Flem	9	16	STORMSABREWING	WON	4.60	1.90	100	460	360	250	1150.0	900.0	34893
6/05/2017	Rosehill	9	4	BONNY O'REILLY (NZ)	Won	3.2	1.30	100	320	220	250	800.0	550.0	35443
13/05/2017	Score	1	6	INTERLOCUTER (USA)	2nd	2.2	1.30	100		-100	10		-10.0	35433
13/05/2017	Cau	2	5	SUNDAY ESCAPE	2nd	5.00	1.80	100		-100	50		-50.0	35383
13/05/2017	Score	2	6	FIRSTHAND		5.5		100		-100	10		-10.0	35373
13/05/2017	Cau	3	1	EXTRA OLIVES		5.50		100		-100	50		-50.0	35323
13/05/2017	Cau	4	7	DANE THUNDER		7.50		100		-100	50		-50.0	35273
13/05/2017	Score	4	11	SNITTY KITTY	2nd	6.5	2.10	100		-100	10		-10.0	35263
13/05/2017	Cau	5	3	ZEBRINZ	2nd	7.00	2.00	100		-100	200		-200.0	35063
13/05/2017	Score	5	1	PRIZED ICON	2nd	3.9	1.70	100		-100	10		-10.0	35053
13/05/2017	Cau	6	10	OVERBERG	2nd	5.00	1.70	100		-100	100		-100.0	34953
13/05/2017	Score	6	4	SNOOPY	2nd	3.9	1.70	100		-100	10		-10.0	34943
13/05/2017	Cau	7	1	MONGOLIAN WOLF		3.30		100		-100	50		-50.0	34893
13/05/2017	Score	7	1	ARTISTRY		6.5		100		-100	10		-10.0	34883
13/05/2017	Cau	8	3	HIGHLAND BEAT		26.00		100		-100	50		-50.0	34833
13/05/2017	Score	8	6	NIETA		2.6		100		-100	10		-10.0	34823
13/05/2017	Cau	9	2	TYKIATO		7.50		100		-100	100		-100.0	34723
20/05/2017	Flem	2	5	DIVINE QUALITY	3rd	2.30	1.30	100		-100	50		-50.0	34673
20/05/2017	Rosehill	2	3	WHITE MOSS	2nd	4	2.30	100		-100	10		-10.0	34663
20/05/2017	Flem	3	14	NEW GRADUATE	2nd	8.50	2.90	100		-100	100		-100.0	34563
20/05/2017	Rosehill	3	1	NEW UNIVERSE (NZ)	Won	2	1.30	100	200	100	10	20.0	10.0	34573
20/05/2017	Flem	4	2	GREVISTE		4.80		100		-100	100		-100.0	34473
20/05/2017	Flem	5	2	CHARMED HARMONY		5.50		100		-100	50		-50.0	34423
20/05/2017	Rosehill	5	1	SECRET TRAIL		7		100		-100	50		-50.0	34373
20/05/2017	Flem	6	6	REFECTORY		8.00		100		-100	50		-50.0	34323
20/05/2017	Rosehill	6	8	CAERLESS CHOICE		9		100		-100	50		-50.0	34273
20/05/2017	Flem	7	14	OAK DOOR		9.00		100		-100	100		-100.0	34173

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
20/05/2017	Rosehill	7	13	SO WILLIE		7.5		100		-100	50		-50.0	34123
20/05/2017	Flem	8	13	HARADAFULL	2nd	5.00	2.40	100		-100	100		-100.0	34023
20/05/2017	Rosehill	8	12	BONNY O'REILLY (NZ)	Won	3	1.60	100	300	200	250	750.0	500.0	34523
20/05/2017	Flem	9	2	FASTNET LATINA	3rd	4.00	1.90	100		-100	50		-50.0	34473
20/05/2017	Rosehill	9	3	MARAAM		14		100		-100	50		-50.0	34423
27/05/2017	San-L	2	15	RILLITO	WON	6.80	2.50	100	680	580	250	1700.0	1450.0	35873
27/05/2017	Randwick	3	1	SIZZLING BULLET		7		100		-100	10		-10.0	35863
27/05/2017	Randwick	4	2	SO WILLIE	Won	6.5	2.00	100	650	550	250	1625.0	1375.0	37238
27/05/2017	San-L	5	8	GRAND DREAMER	WON	6.30	2.00	100	630	530	200	1260.0	1060.0	38298
27/05/2017	San-L	6	6	PETROLOGY	2nd	10.00	2.40	100		-100	100		-100.0	38198
27/05/2017	Randwick	6	12	IN TIMES OF WAR	Won	2.9	1.40	100	290	190	50	145.0	95.0	38293
27/05/2017	San-L	7	3	SOHO RUBY	WON	6.30	2.00	100	630	530	100	630.0	530.0	38823
27/05/2017	Randwick	7	6	BROADSIDE (NZ)	2nd	2.9	1.70	100		-100	10		-10.0	38813
27/05/2017	San-L	8	1	ZAMZAM		4.60		100		-100	100		-100.0	38713
27/05/2017	Randwick	8	12	MACHINEGUN JUBS		8.5		100		-100	100		-100.0	38613
27/05/2017	San-L	9	14	DATA POINT	2nd	4.20	1.80	100		-100	250		-250.0	38363
27/05/2017	Randwick	9	9	WAYANKA		6		100		-100	50		-50.0	38313
3/06/2017	MV	2	1	WHISTLE BABY	WON	6.00	2.30	100	600	500	280	1680.0	1400.0	39713
3/06/2017	Rosehill	2	1	NEW UNIVERSE (NZ)		2.25		100		-100	10		-10.0	39703
3/06/2017	MV	3	7	MISS VISTA		4.00		100		-100	50		-50.0	39653
3/06/2017	Rosehill	3	1	DAGNY (NZ)		2.8		100		-100	50		-50.0	39603
3/06/2017	MV	4	3	GREVISTE	WON	4.50	1.70	100	450	350	50	225.0	175.0	39778
3/06/2017	MV	5	3	CHERYL'S HORSE		13.00		100		-100	50		-50.0	39728
3/06/2017	MV	6	2	HAVE ANOTHER GLASS		3.80		100		-100	50		-50.0	39678
3/06/2017	Rosehill	6	2	ZIGGY WILLIE		13		100		-100	50		-50.0	39628
3/06/2017	MV	7	7	CHAMOIS ROAD		8.00		100		-100	50		-50.0	39578
3/06/2017	Rosehill	7	10	SO WILLIE		4.2		100		-100	250		-250.0	39328
3/06/2017	MV	8	12	GALLIC CHIEFTAIN	WON	3.60	1.80	100	360	260	100	360.0	260.0	39588
3/06/2017	Rosehill	8	6	SNOOPY		5.5		100		-100	100		-100.0	39488
3/06/2017	MV	9	1	KEN'S DREAM		8.00		100		-100	100		-100.0	39388
3/06/2017	Rosehill	9	3	CARELESS		9		100		-100	50		-50.0	39338
10/06/2017	Flem	2	1	SAMOVARE	2nd	2.90	1.40	100		-100	50		-50.0	39288
10/06/2017	Randwick	2	3	IN TIMES OF WAR	2nd	4.4	1.50	100		-100	10		-10.0	39278
10/06/2017	Flem	3	8	BULLPIT		15.00		100		-100	50		-50.0	39228

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
10/06/2017	Flem	4	5	GOATHLAND	2nd	1.70	1.20	100		-100	50		-50.0	39178
10/06/2017	Randwick	4	1	BROADSIDE (NZ)	3rd	2.6	1.20	100		-100	10		-10.0	39168
10/06/2017	Flem	5	8	ZOURKHAN	2nd	4.40	2.00	100		-100	200		-200.0	38968
10/06/2017	Flem	6	1	ALL OUT OF LOVE		15.00		100		-100	50		-50.0	38918
10/06/2017	Randwick	6	3	DAGNY (NZ)	2nd	4.4	1.40	100		-100	50		-50.0	38868
10/06/2017	Flem	7	6	SOVEREIGN NATION		4.00		100		-100	280		-280.0	38588
10/06/2017	Randwick	7	7	KUDERO	2nd	4.2	1.20	100		-100	100		-100.0	38488
10/06/2017	Flem	8	3	DAM READY		3.90		100		-100	100		-100.0	38388
10/06/2017	Randwick	8	2	CURRAGH (NZ)		5		100		-100	50		-50.0	38338
10/06/2017	Flem	9	2	REWARDING EFFORT		13.00		100		-100	50		-50.0	38288
10/06/2017	Randwick	9	10	CLEAR THE BEACH	2nd	5.5	2.00	100		-100	100		-100.0	38188
17/06/2017	MV	2	1	IF NOT NOW WHEN	3rd	4.80	1.90	100		-100	250		-250.0	37938
17/06/2017	MV	3	5	ZARA BAY	2nd	3.40	1.50	100		-100	250		-250.0	37688
17/06/2017	MV	4	11	SOHO RUBY		4.20		100		-100	50		-50.0	37638
17/06/2017	Rosehill	4	5	FEELIN THE LOVE (NZ)		19		100		-100	50		-50.0	37588
17/06/2017	MV	5	2	LORD DA VINCI	WON	4.80	2.30	100	480	380	280	1344.0	1064.0	38652
17/06/2017	Rosehill	5	2	MOSS 'N' DALE (NZ)	2nd	2.4	1.30	100		-100	50		-50.0	38602
17/06/2017	MV	6	7	MYSTIFIED		7.50		100		-100	100		-100.0	38502
17/06/2017	Rosehill	6	6	SUPPLY AND DEMAND	Won	5	1.80	100	500	400	100	500.0	400.0	38902
17/06/2017	MV	7	11	HURSLEY		4.80		100		-100	50		-50.0	38852
17/06/2017	Rosehill	7	3	BADAJAZ	2nd	4.6	1.60	100		-100	100		-100.0	38752
17/06/2017	MV	8	4	RHYTHM TO SPARE		8.00		100		-100	50		-50.0	38702
17/06/2017	Rosehill	8	7	CARZOFF (FR)	2nd	2.2	1.20	100		-100	50		-50.0	38652
17/06/2017	MV	9	4	LEODORO		3.10		100		-100	100		-100.0	38552
17/06/2017	Rosehill	9	2	INVINCIBLE KNIGHT	Won	7.6	2.70	100	760	660	50	380.0	330.0	38882
24/06/2017	Flem	2	4	INVINCIBLE AL	2nd	5.50	2.20	100		-100	50		-50.0	38832
24/06/2017	Randwick	2	4	MEMES	Won	3.5	1.40	100	350	250	10	35.0	25.0	38857
24/06/2017	Flem	3	6	GIVE US A GO		8.50		100		-100	50		-50.0	38807
24/06/2017	Randwick	3	1	HEAVENLY ANNA		4.6		100		-100	50		-50.0	38757
24/06/2017	Flem	4	10	PORTION CONTROL		8.50		100		-100	100		-100.0	38657
24/06/2017	Flem	5	7	SHAKOPEE		9.50		100		-100	50		-50.0	38607
24/06/2017	Randwick	5	2	RICHARD OF YORKE (GB)		4.8		100		-100	10		-10.0	38597
24/06/2017	Flem	6	3	HUSSON EAGLE	2nd	13.00	3.80	100		-100	100		-100.0	38497
24/06/2017	Randwick	6	7	LIAPARI (NZ)	3rd	3.8	1.70	100		-100	100		-100.0	38397

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
24/06/2017	Flem	7	6	REWARDING EFFORT	3rd	2.90	2.50	100		-100	250		-250.0	38147
24/06/2017	Randwick	7	5	KUDERO		6		100		-100	100		-100.0	38047
24/06/2017	Flem	8	9	CANNYESCENT	WON	3.00	1.40	100	300	200	250	750.0	500.0	38547
24/06/2017	Randwick	8	2	WILD 'N' FAMOUS (NZ)		6		100		-100	50		-50.0	38497
24/06/2017	Randwick	9	6	WIDE ACCLAIM		6		100		-100	50		-50.0	38447
1/07/2017	CAU	2	4	ROYAL ORDER		5.00		100		-100	50		-50.0	38397
1/07/2017	Rosehill	2	2	JUST DREAMING	2nd	3.1	1.50	100		-100	10		-10.0	38387
1/07/2017	CAU	3	2	CURRAGH		6.00		100		-100	50		-50.0	38337
1/07/2017	Rosehill	3	10	DOMED		8.5		100		-100	200		-200.0	38137
1/07/2017	CAU	4	4	RUN GYPSY RUN		18.00		100		-100	50		-50.0	38087
1/07/2017	CAU	5	1	WHISTLE BABY		8.50		100		-100	100		-100.0	37987
1/07/2017	Rosehill	5	3	GALLIC CHIEFTAIN (FR)	Won	2.3	1.10	100	230	130	10	23.0	13.0	38000
1/07/2017	CAU	6	6	CANNOT BE SERIOS		10.00		100		-100	250		-250.0	37750
1/07/2017	Rosehill	6	3	MEMES	2nd	3.4	1.50	100		-100	50		-50.0	37700
1/07/2017	CAU	7	17	GERVAIS		7.50		100		-100	100		-100.0	37600
1/07/2017	Rosehill	7	8	SIR BACCHUS		4.2		100		-100	100		-100.0	37500
1/07/2017	CAU	8	2	DIVINE MR ARTIE		7.00		100		-100	50		-50.0	37450
1/07/2017	Rosehill	8	10	SIR PLUSH (NZ)	2nd	2.45	1.20	100		-100	50		-50.0	37400
1/07/2017	CAU	9	2	ONPICALO		9.35		100		-100	100		-100.0	37300
1/07/2017	Rosehill	9	7	CARZOFF (FR)		2.9		100		-100	50		-50.0	37250
8/07/2017	Flem	1	9	SPANISH REEF	WON	7.50	2.30	100	750	650	250	1875.0	1625.0	38875
8/07/2017	Flem	2	7	DUKE OF ELLINGTON		6.00		100		-100	50		-50.0	38825
8/07/2017	Warwick Farm	2	4	PHILOSOPHY		4.2		100		-100	10		-10.0	38815
8/07/2017	Flem	3	1	TSARITSA		6.00		100		-100	280		-280.0	38535
8/07/2017	Warwick Farm	3	2	SAYED (USA)	Won	2.8	1.30	100	280	180	10	28.0	18.0	38553
8/07/2017	Flem	5	2	INVINCIBLE AL		4.60		100		-100	50		-50.0	38503
8/07/2017	Flem	6	4	CHARLEVOIX	3rd	4.20	1.80	100		-100	100		-100.0	38403
8/07/2017	Flem	7	6	PETROLOGY		13.00		100		-100	50		-50.0	38353
8/07/2017	Warwick Farm	7	3	LIAPARI (NZ)	Won	3.5	1.40	100	350	250	10	35.0	25.0	38378
8/07/2017	Flem	8	7	ABILITY	WON	3.20	1.60	100	320	220	300	960.0	660.0	39038
8/07/2017	Warwick Farm	8	2	YOUR WAY (NZ)		3.4		100		-100	10		-10.0	39028
8/07/2017	Flem	9	1	URBAN RULER	2nd	4.20	2.00	100		-100	50		-50.0	38978
8/07/2017	Warwick Farm	9	15	TIME OUT OF MIND		8		100		-100	10		-10.0	38968
15/07/2017	CAU	1	3	DATA POINT		3.00		100		-100	50		-50.0	38918

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
15/07/2017	Rosehill	2	4	INSENSATA	Won	4.2	1.60	100	420	320	250	1050.0	800.0	39718
15/07/2017	CAU	3	3	MOONLITES CHOICE	WON	3.60	1.50	100	360	260	300	1080.0	780.0	40498
15/07/2017	CAU	4	1	KIWIA		2.25		100		-100	50		-50.0	40448
15/07/2017	Rosehill	4	1	ARBEITSAM	2nd	3.5	1.60	100		-100	10		-10.0	40438
15/07/2017	CAU	5	12	BLING DYNASTY	3rd	5.00	1.90	100		-100	50		-50.0	40388
15/07/2017	Rosehill	5	3	CLEAR THE BEACH	3rd	11	3.50	100		-100	50		-50.0	40338
15/07/2017	CAU	6	1	REVOLVING DOOR	2nd	4.20	1.70	100		-100	50		-50.0	40288
15/07/2017	Rosehill	6	11	SIR PLUSH (NZ)	2nd	2.7	1.10	100		-100	50		-50.0	40238
15/07/2017	CAU	7	5	MURT THE FLIRT	3rd	9.00	2.00	100		-100	50		-50.0	40188
15/07/2017	Rosehill	7	3	BURNING PASSION		6.5		100		-100	250		-250.0	39938
15/07/2017	CAU	8	2	SULLIVAN BAY	2nd	2.80	1.50	100		-100	300		-300.0	39638
15/07/2017	Rosehill	8	9	LIFE O'BRIEN	3rd	8	2.40	100		-100	50		-50.0	39588
15/07/2017	CAU	9	5	AIRALIGN	3rd	10.00	3.20	100		-100	100		-100.0	39488
15/07/2017	Rosehill	9	4	FLOW		3.9		100		-100	250		-250.0	39238
22/07/2017	Flem	1	8	DOLLAR FOR DOLLAR		3.60		100		-100	100		-100.0	39138
22/07/2017	Flem	2	1	HELL OR HIGHWATER	3rd	7.00	0.00	100		-100	100		-100.0	39038
22/07/2017	Randwick	3	7	CLIPPER	2nd	3.2	1.30	100		-100	50		-50.0	38988
22/07/2017	Flem	4	8	PORTMAN	WON	2.30	1.20	100	230	130	100	230.0	130.0	39118
22/07/2017	Randwick	4	5	SUPER TOO		2.3		100		-100	50		-50.0	39068
22/07/2017	Flem	5	6	LOVANI	WON	8.00	2.70	100	800	700	300	2400.0	2100.0	41168
22/07/2017	Randwick	5	2	SPENDING TO WIN	2nd	1.95	1.40	100		-100	10		-10.0	41158
22/07/2017	Flem	6	2	RUETTIGER		6.50		100		-100	100		-100.0	41058
22/07/2017	Randwick	6	1	SOUND PROPOSITION	Won	5.5	1.60	100	550	450	100	550.0	450.0	41508
22/07/2017	Flem	7	1	KILLARNEY KID	3rd	11.00	2.80	100		-100	50		-50.0	41458
22/07/2017	Randwick	7	2	FELINES	3rd	5		100		-100	100		-100.0	41358
22/07/2017	Flem	8	4	PRINCESS OF QUEENS	3rd	8.00	2.60	100		-100	100		-100.0	41258
22/07/2017	Randwick	8	8	KINGS OF LEON	Won	2.5	1.20	100	250	150	100	250.0	150.0	41408
22/07/2017	Flem	9	7	HAY BALE	WON	9.00	2.80	100	900	800	50	450.0	400.0	41808
22/07/2017	Randwick	9	15e	STEYNE		4.2		100		-100	50		-50.0	41758
29/07/2017	CAU	1	1	ROCKET COMMANDER		5.50		100		-100	280		-280.0	41478
29/07/2017	CAU	2	8	KIWIA	WON	1.95	1.30	100	195	95	50	97.5	47.5	41525

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
29/07/2017	Rosehill	2	4	CLEAR THE BEACH	Won	3.9	1.40	100	390	290	250	975.0	725.0	42250
29/07/2017	Rosehill	3	2	INSENSATA		4.4		100		-100	10		-10.0	42240
29/07/2017	CAU	4	13	SAINT VALOREM	WON	10.00	2.90	100	1000	900	100	1000.0	900.0	43140
29/07/2017	Rosehill	6	6	ZOURKHAN (IRE)		4.6		100		-100	50		-50.0	43090
29/07/2017	Rosehill	7	10	LIAPARI (NZ)		5.5		100		-100	100		-100.0	42990
29/07/2017	Rosehill	8	5	MORE TO GAIN		10		100		-100	50		-50.0	42940
29/07/2017	Rosehill	9	8	AWOKE (NZ)	2nd	5	2.40	100		-100	250		-250.0	42690
5/08/2017	Flem	2	2	DULVERTON		4.00	1.50	100		-100	100		-100.0	42590
5/08/2017	Randwick	2	5	LA CHICA BELLA		4.6		100		-100	50		-50.0	42540
5/08/2017	Randwick	3	8	IMPERATOR AUGUSTUS	2nd	4.4	1.90	100		-100	200		-200.0	42340
5/08/2017	Flem	4	5	ALOFT	WON	4.60	1.90	100	460	360	100	460.0	360.0	42700
5/08/2017	Flem	5	9	HAY BALE	3rd	2.90	0.00	100		-100	50		-50.0	42650
5/08/2017	Randwick	5	3	SAYED (USA)	Won	4.6	1.80	100	460	360	10	46.0	36.0	42686
5/08/2017	Flem	6	8	CHEQUERED FLAG	2nd	3.70	1.50	100		-100	100		-100.0	42586
5/08/2017	Randwick	6	1	SO WILLIE		13		100		-100	50		-50.0	42536
5/08/2017	Flem	7	4	ANDREA MANTEGNA		10.00		100		-100	10		-10.0	42526
5/08/2017	Randwick	7	1	LE ROMAIN	2nd	2.2	1.20	100		-100	100		-100.0	42426
5/08/2017	Flem	8	2	AMOVATIO	2nd	5.00	1.80	100		-100	250		-250.0	42176
5/08/2017	Randwick	8	10	LAUNCH CODE	2nd	3.2	1.40	100		-100	50		-50.0	42126
5/08/2017	Flem	9	12	PORTMAN		4.00		100		-100	50		-50.0	42076
5/08/2017	Randwick	9	4	KINGS OF LEON		7.5		100		-100	50		-50.0	42026
5/08/2017	Flem	10	9	EUREKA STREET	WON	4.80	2.00	100	480	380	300	1440.0	1140.0	43166
12/08/2017	Flem	2	4	SUPER HAZE		4.20		100		-100	200		-200.0	42966
12/08/2017	Rosehill	2	1	VAUCLUSE BAY		1.85		100		-100	50		-50.0	42916
12/08/2017	Flem	3	3	TRIED AND TIRED	3rd	8.50	0.00	100		-100	100		-100.0	42816
12/08/2017	Rosehill	3	7	ARBEITSAM	Won	1.95	1.20	100	195	95	100	195.0	95.0	42911
12/08/2017	Flem	4	3	RIYADH		8.50		100		-100	50		-50.0	42861
12/08/2017	Rosehill	4	7	SIR PLUSH (NZ)		3.5		100		-100	250		-250.0	42611
12/08/2017	Flem	5	6	SWAMPLAND	WON	5.50	1.60	100	550	450	250	1375.0	1125.0	43736

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
12/08/2017	Rosehill	5	7	THE PHAROAH	Won	3	1.30	100	300	200	50	150.0	100.0	43836
12/08/2017	Flem	6	11	INVICTUM DOMINA	3rd	4.40	1.90	100		-100	10		-10.0	43826
12/08/2017	Flem	7	5	FLIPPANT		7.00		100		-100	300		-300.0	43526
12/08/2017	Rosehill	7	7	WASHINGTON HEIGHTS		2.6		100		-100	100		-100.0	43426
12/08/2017	Flem	8	9	GALAXY RAIDER		4.80		100		-100	50		-50.0	43376
12/08/2017	Rosehill	8	9	PRADA MISS	3rd	12	3.40	100		-100	50		-50.0	43326
12/08/2017	Flem	9	1	GUN CASE		21.00		100		-100	50		-50.0	43276
12/08/2017	Rosehill	9	4	SPECIAL MISSILE	Won	3.1	1.50	100	310	210	250	775.0	525.0	43801
19/08/2017	CAU	1	1	HELL OR HIGHWATER	WON	7.00	2.10	100	700	600	100	700.0	600.0	44401
19/08/2017	CAU	2	11	WORLD OF HOPE		18.00		100		-100	50		-50.0	44351
19/08/2017	Randwick	2	1	SAYED (USA)	2nd	1.65	1.40	100		-100	10		-10.0	44341
19/08/2017	CAU	3	16	QUILISTA	WON	5.50	2.20	100	550	450	50	275.0	225.0	44566
19/08/2017	CAU	4	4	RHYTHM TO SPARE	WON	4.80	1.80	100	480	380	50	240.0	190.0	44756
19/08/2017	Randwick	4	2	COMIN' THROUGH	Won	4	1.60	100	400	300	50	200.0	150.0	44906
19/08/2017	CAU	5	1	CATCHY	2nd	2.40	1.30	100		-100	50		-50.0	44856
19/08/2017	CAU	6	4	JUKEBOX	WON	3.60	1.40	100	360	260	100	360.0	260.0	45116
19/08/2017	Randwick	6	7	WINX	Won	1.1	1.04	100	110	10	300	330.0	30.0	45146
19/08/2017	CAU	7	2	HARTNELL	WON	2.80	1.50	100	280	180	250	700.0	450.0	45596
19/08/2017	Randwick	7	7	IMPOSING LASS (NZ)	3rd	4.2	1.60	100		-100	50		-50.0	45546
19/08/2017	CAU	8	11	BRAVE SMASH	2nd	3.50	1.90	100		-100	250		-250.0	45296
19/08/2017	Randwick	8	7	OMEI SWORD		3.8		100		-100	100		-100.0	45196
19/08/2017	Randwick	9	10	CLIPPER		3.6		100		-100	100		-100.0	45096
26/08/2017	MV	1	1	LORESHO	3rd	4.20	1.60	100		-100	100		-100.0	44996
26/08/2017	MV	2	11	LOVANI		9.50		100		-100	250		-250.0	44746
26/08/2017	Rosehill	2	1	AWOKE (NZ)	2nd	2.8	1.20	100		-100	50		-50.0	44696
26/08/2017	MV	3	1	TULIP	2nd	2.30	1.40	100		-100	50		-50.0	44646
26/08/2017	Rosehill	3	2	IMPROVEMENT (NZ)		8.5		100		-100	50		-50.0	44596
26/08/2017	MV	4	12	SIN TO WIN	2nd	2.80	1.50	100		-100	100		-100.0	44496
26/08/2017	Rosehill	4	4	ALWARD (IRE)	Won	1.65	1.20	100	165	65	250	412.5	162.5	44659
26/08/2017	MV	5	6	PACODALI	WON	3.30	1.40	100	330	230	100	330.0	230.0	44889
26/08/2017	Rosehill	5	7	BROADSIDE (NZ)		5.5		100		-100	100		-100.0	44789
26/08/2017	MV	6	3	BANDIPUR	2nd	3.60	1.50	100		-100	100		-100.0	44689

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
26/08/2017	MV	7	10	HEATHERLY	2nd	2.50	1.40	100		-100	50		-50.0	44639
26/08/2017	MV	8	13	HERE TO THERE	WON	7.50	2.60	100	750	650	100	750.0	650.0	45289
26/08/2017	Rosehill	8	2	SPECIAL MISSILE	Won	4.4	1.80	100	440	340	100	440.0	340.0	45629
26/08/2017	MV	9	10	OBERLAND	2nd	5.00	2.20	100		-100	280		-280.0	45349
26/08/2017	Rosehill	9	1	BONNY O'REILLY (NZ)	Won	4	1.70	100	400	300	50	200.0	150.0	45499
2/09/2017	CAU	1	2	PROSECUTION		4.40		100		-100	100		-100.0	45399
2/09/2017	CAU	2	8	OREGON'S DAY	WON	4.60	1.90	100	460	360	250	1150.0	900.0	46299
2/09/2017	Randwick	2	8	UP 'N' ROLLING (NZ)	Won	1.5	1.20	100	150	50	50	75.0	25.0	46324
2/09/2017	CAU	3	15	HANDSOME THIEF	3rd	6.50		100		-100	250		-250.0	46074
2/09/2017	Randwick	3	4	JAMINZAH		4.4		100		-100	250		-250.0	45824
2/09/2017	CAU	4	2	MERCHANT NAVY	WON	3.50	3.50	100	350	250	100	350.0	250.0	46074
2/09/2017	CAU	5	2	FUHRYK		2.25		100		-100	100		-100.0	45974
2/09/2017	Randwick	5	3	SPIETH (NZ)	2nd	2.7		100		-100	100		-100.0	45874
2/09/2017	CAU	6	4	SHEIDEL		2.45		100		-100	250		-250.0	45624
2/09/2017	CAU	7	5	VEGA MAGIC	WON	2.45	1.40	100	245	145	280	686.0	406.0	46030
2/09/2017	Randwick	7	11	WINX	Won	1.09	1.04	100	109	9	100	109.0	9.0	46039
2/09/2017	CAU	8	9	HELL OR HIGHWATER	WON	6.00	2.20	100	600	500	280	1680.0	1400.0	47439
2/09/2017	Randwick	8	7	INVINCIBLE GEM	3rd	4.4	1.60	100		-100	250		-250.0	47189
2/09/2017	CAU	9	2	GRANDE ROSSO	WON	3.78	1.70	100	378	278	250	945.0	695.0	47884
2/09/2017	Randwick	9	7	WASHINGTON HEIGHTS	Won	2.5	1.20	100	250	150	250	625.0	375.0	48259
9/09/2017	MV	1	9	SPANISH REEF	2nd	4.20	1.70	100		-100	50		-50.0	48209
9/09/2017	Rosehill	1	5	MARIQUITA	2nd	5	2.30	100		-100	50		-50.0	48159
9/09/2017	MV	2	2	ESHTIRAAK	2nd	5.00	2.30	100		-100	50		-50.0	48109
9/09/2017	MV	3	9	EBEDIYIN	WON	10.50	3.10	100	1050	950	100	1050.0	950.0	49059
9/09/2017	Rosehill	3	1	ALWARD (IRE)		3		100		-100	50		-50.0	49009
9/09/2017	MV	4	7	HARLOW GOLD		6.50		100		-100	100		-100.0	48909
9/09/2017	MV	5	7	HOUTZEN	3rd	2.60	0.00	100		-100	100		-100.0	48809
9/09/2017	Rosehill	5	6	EGG TART	2nd	5	2.50	100		-100	100		-100.0	48709
9/09/2017	MV	6	8	SANADAAT		3.30		100		-100	100		-100.0	48609
9/09/2017	Rosehill	6	1	GHISONI		12		100		-100	50		-50.0	48559
9/09/2017	MV	7	1	KEEN ARRAY		17.00		100		-100	50		-50.0	48509
9/09/2017	MV	8	6	RHYTHM TO SPARE	3rd	16.00	3.70	100		-100	50		-50.0	48459
9/09/2017	Rosehill	8	4	TANGO RAIN	2nd	2.3	1.30	100		-100	250		-250.0	48209

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
9/09/2017	MV	9	11	MAGIC CONSOL	2nd	14.00	3.60	100		-100	50		-50.0	48159
9/09/2017	Rosehill	9	5	THE PHAROAH		4.5		100		-100	250		-250.0	47909
16/09/2017	Flem	1	1	JORDA		2.70		100		-100	100		-100.0	47809
16/09/2017	Flem	2	1	ROYAL SYMPHONY	WON	2.20	1.30	100	220	120	50	110.0	60.0	47869
16/09/2017	Randwick	2	4	VELADERO		5.5		100		-100	50		-50.0	47819
16/09/2017	Flem	3	14	THEANSWERMYFRIEND	WON	3.40	1.60	100	340	240	280	952.0	672.0	48491
16/09/2017	Flem	4	9	SO SI BON		8.00		100		-100	250		-250.0	48241
16/09/2017	Randwick	4	3	TOM MELBOURNE (IRE)	2nd	3.3	1.60	100		-100	50		-50.0	48191
16/09/2017	Flem	5	6	CATCHY	WON	3.70	1.70	100	370	270	100	370.0	270.0	48461
16/09/2017	Flem	6	11	SWAMPLAND	2nd	6.50	2.30	100		-100	100		-100.0	48361
16/09/2017	Randwick	6	7	WINX	Won	1.12	1.04	100	112	12	100	112.0	12.0	48373
16/09/2017	Flem	7	1	HARTNELL	2nd	1.75	1.30	100		-100	50		-50.0	48323
16/09/2017	Randwick	7	1	CHAUTAUQUA		6		100		-100	100		-100.0	48223
16/09/2017	Flem	8	1	ALMANDIN	WON	5.30	2.00	100	530	430	50	265.0	215.0	48438
16/09/2017	Randwick	8	6	ANTONIO GIUSEPPE (NZ)	2nd	5	1.50	100		-100	100		-100.0	48338
16/09/2017	Flem	9	12	JACQUINOT BAY	3rd	8.50	2.00	100		-100	50		-50.0	48288
16/09/2017	Randwick	9	5	I THOUGHT SO		4.4		100		-100	50		-50.0	48238
23/09/2017	CAU	1	9	LEATHER'N'LACE	WON	4.40	1.80	100	440	340	100	440.0	340.0	48578
23/09/2017	CAU	2	1	ESHTIRAAK		2.80		100		-100	100		-100.0	48478
23/09/2017	Rosehill	2	1	BROADSIDE (NZ)	3rd	2.7		100		-100	10		-10.0	48468
23/09/2017	CAU	3	11	SIN TO WIN	2nd	2.90	1.50	100		-100	100		-100.0	48368
23/09/2017	CAU	4	6	SUPERHARD		4.80		100		-100	100		-100.0	48268
23/09/2017	Rosehill	4	3	UP 'N' ROLLING (NZ)	2nd	1.9	1.04	100		-100	100		-100.0	48168
23/09/2017	CAU	5	6	REVOLVING DOOR		4.40		100		-100	100		-100.0	48068
23/09/2017	Rosehill	5	9	DAWN WALL		3.5		100		-100	100		-100.0	47968
23/09/2017	CAU	6	1	KEEN ARRAY		8.50		100		-100	250		-250.0	47718
23/09/2017	CAU	7	6	STAMPEDE	3rd	4.40	2.00	100		-100	50		-50.0	47668
23/09/2017	CAU	8	6	RAVI	3rd	3.20	1.60	100		-100	100		-100.0	47568
23/09/2017	Rosehill	8	4	DAYSEE DOOM	Won	6	2.00	100	600	500	250	1500.0	1250.0	48818
23/09/2017	CAU	9	9	PRINCESS OF QUEENS	3rd	9.50	2.20	100		-100	100		-100.0	48718
23/09/2017	Rosehill	9	5	ZUMBELINA	3rd	2.4	1.30	100		-100	250		-250.0	48468
30/09/2017	Randwick	4	8	EMBLEY	2nd	10	2.50	100		-100	100		-100.0	48368
30/09/2017	Randwick	6	1	CHAUTAUQUA		2.8		100		-100	100		-100.0	48268

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
30/09/2017	Randwick	7	1	HAPPY CLAPPER	Won	2.5	1.30	100	250	150	250	625.0	375.0	48643
30/09/2017	Randwick	8	8	BROADSIDE (NZ)		8		100		-100	10		-10.0	48633
30/09/2017	Randwick	9	8	SPRIGT		7		100		-100	50		-50.0	48583
1/10/2017	CAU	1	15	SPECIAL DIVA		7.00		100		-100	10		-10.0	48573
1/10/2017	CAU	2	7	MOTOWN LIL		9.50		100		-100	10		-10.0	48563
1/10/2017	CAU	3	1	HARDHAM	2nd	1.55	1.30	100		-100	10		-10.0	48553
1/10/2017	CAU	4	1	GUARDINI		8.00		100		-100	10		-10.0	48543
1/10/2017	CAU	5	1	CATCHY	3rd	2.00	1.20	100		-100	10		-10.0	48533
1/10/2017	CAU	6	3	ROYAL SYMPHONY		2.40		100		-100	10		-10.0	48523
1/10/2017	CAU	7	1	HARTNELL	2nd	2.20	1.20	100		-100	10		-10.0	48513
1/10/2017	CAU	8	3	SCALES OF JUSTICE		3.60		100		-100	10		-10.0	48503
1/10/2017	CAU	9	1	HELLBENT		10.00		100		-100	10		-10.0	48493
7/10/2017	Flem	2	2	SIRCCONI	3rd	8.00	2.30	100		-100	10		-10.0	48483
7/10/2017	Flem	3	1	CLIFF'S EDGE	2nd	5.50	2.30	100		-100	10		-10.0	48473
7/10/2017	Randwick	3	1	HOGMANAY		7.5		100		-100	50		-50.0	48423
7/10/2017	Flem	4	4	SPIETH		2.80		100		-100	10		-10.0	48413
7/10/2017	Flem	5	2	WINX	WON	1.22	1.10	100	122	22	10	12.2	2.2	48415
7/10/2017	Randwick	5	2	BURNING PASSION		8		100		-100	100		-100.0	48315
7/10/2017	Flem	6	4	LEATHER'N'LACE	3rd	2.70	1.50	100		-100	10		-10.0	48305
7/10/2017	Randwick	6	3	VIRIDINE	Won	2.4	1.40	100	240	140	10	24.0	14.0	48319
7/10/2017	Flem	7	1	ALMANDIN		2.20		100		-100	10		-10.0	48309
7/10/2017	Randwick	7	1	ACE HIGH	Won	3.1	1.40	100	310	210	10	31.0	21.0	48330
7/10/2017	Flem	8	4	SWORD OF LIGHT		11.00		100		-100	10		-10.0	48320
7/10/2017	Randwick	8	1	DAYSEE DOOM	2nd	4.8	2.00	100		-100	50		-50.0	48270
7/10/2017	Randwick	9	4	FIRSTHAND	3rd	8	2.40	100		-100	50		-50.0	48220
14/10/2017	Randwick	1	12	DON'T GIVE A DAMN	Won	1.8	1.20	100	180	80	300	540.0	240.0	48460
14/10/2017	CAU	2	9	TRUE EXCELSIOR		9.50		100		-100	10		-10.0	48450
14/10/2017	CAU	3	1	LEGLESS VEUVE		3.20		100		-100	10		-10.0	48440
14/10/2017	CAU	4	8	GALLIC CHIEFTAIN	3rd	5.00	1.80	100		-100	10		-10.0	48430
14/10/2017	Randwick	4	11	SUNCRAZE	2nd	2.7	1.20	100		-100	300		-300.0	48130
14/10/2017	CAU	5	2	RELIGIFY	2nd	5.00	2.10	100		-100	10		-10.0	48120
14/10/2017	Randwick	5	10	JAMINZAH		11		100		-100	50		-50.0	48070
14/10/2017	CAU	6	2	ALIZEE	3rd	2.15	1.20	100		-100	10		-10.0	48060

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
14/10/2017	Randwick	6	2	BIG DUKE (IRE)	Won	2.5	1.30	100	250	150	10	25.0	15.0	48075
14/10/2017	CAU	7	1	HARTNELL		4.20		100		-100	10		-10.0	48065
14/10/2017	Randwick	7	12	IN HER TIME	Won	2.4	1.30	100	240	140	250	600.0	350.0	48415
14/10/2017	CAU	8	6	ROYAL SYMPHONY		4.80		100		-100	10		-10.0	48405
14/10/2017	Randwick	8	1	CHAUTAUQUA		6		100		-100	100		-100.0	48305
14/10/2017	CAU	9	10	MR SNEAKY		7.50		100		-100	10		-10.0	48295
14/10/2017	Randwick	9	1	HAPPY CLAPPER	2nd	1.6	1.10	100		-100	300		-300.0	47995
14/10/2017	CAU	10	11	SUPER CASH	WON	5.50	1.80	100	550	450	10	55.0	45.0	48040
14/10/2017	Randwick	10	6	OZARK		6		100		-100	50		-50.0	47990
18/10/2017	CAU	1	1	SWACADELIC		15.00		100		-100	10		-10.0	47980
18/10/2017	CAU	2	2	VIOLATE	WON	5.30	2.20	100	530	430	10	53.0	43.0	48023
18/10/2017	CAU	4	6	WALL STREET WOLF		5.50		100		-100	10		-10.0	48013
18/10/2017	CAU	5	2	FLYING JESS	2nd	5.00	1.80	100		-100	10		-10.0	48003
18/10/2017	CAU	6	1	SUMMER PASSAGE		5.50		100		-100	10		-10.0	47993
18/10/2017	CAU	7	8	RICH CHARM	WON	5.50	2.10	100	550	450	10	55.0	45.0	48038
18/10/2017	CAU	8	11	PORTION CONTROL		13.00		100		-100	10		-10.0	48028
21/10/2017	CAU	1	10	SWORN EVIDENCE		7.00		100		-100	10		-10.0	48018
21/10/2017	CAU	2	3	ECLAIR SUNSHINE		5.50		100		-100	10		-10.0	48008
21/10/2017	CAU	4	2	CLIFF'S EDGE	WON	4.40	1.60	100	440	340	10	44.0	34.0	48042
21/10/2017	Randwick	4	1	DESTINY'S KISS	Won	4.8	1.90	100	480	380	10	48.0	38.0	48080
21/10/2017	CAU	5	4	MAURUS	3rd	17.00	0.00	100		-100	10		-10.0	48070
21/10/2017	Randwick	5	7	PEACOCK		4.8		100		-100	50		-50.0	48020
21/10/2017	CAU	6	6	GRANDE ROSSO		4.80		100		-100	10		-10.0	48010
21/10/2017	Randwick	6	3	GOODFELLA	Won	2.3	1.50	100	230	130	10	23.0	13.0	48023
21/10/2017	CAU	7	10	PROPERTY		4.60		100		-100	10		-10.0	48013
21/10/2017	Randwick	7	3	DAYSEE DOOM		5.5		100		-100	50		-50.0	47963
21/10/2017	CAU	8	1	HUMIDOR		9.00		100		-100	10		-10.0	47953
21/10/2017	Randwick	8	3	HOGMANAY	3rd	3.8	2.50	100		-100	50		-50.0	47903
21/10/2017	CAU	9	1	FOXPLAY		4.20		100		-100	10		-10.0	47893
21/10/2017	Randwick	9	10	CRAFTY COP	2nd	4.8	1.70	100		-100	100		-100.0	47793
21/10/2017	CAU	10	3	NIETA	3rd	2.60	1.50	100		-100	10		-10.0	47783
28/10/2017	MV	2	4	ROCK 'N' GOLD		7.50		100		-100	10		-10.0	47773
28/10/2017	Randwick	2	1	JUST DREAMING	2nd	7	2.20	100		-100	50		-50.0	47723

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
28/10/2017	MV	3	2	DUCIMUS		6.00		100		-100	10		-10.0	47713
28/10/2017	Randwick	3	1	TACTICAL ADVANTAGE	3rd	4.2	1.70	100		-100	50		-50.0	47663
28/10/2017	MV	4	6	BLONDIE	WON	21.00	3.20	100	2100	2000	10	210.0	200.0	47863
28/10/2017	MV	5	1	FRENCH EMOTION		13.00		100		-100	10		-10.0	47853
28/10/2017	Randwick	5	2	STONEBROOK	2nd	1.9	1.20	100		-100	50		-50.0	47803
28/10/2017	MV	6	1	BIG DUKE		2.05		100		-100	10		-10.0	47793
28/10/2017	Randwick	6	4	FIRSTHAND	Won	5	1.70	100	500	400	200	1000.0	800.0	48593
28/10/2017	MV	7	5	SPEEDWAY		6.00		100		-100	10		-10.0	48583
28/10/2017	Randwick	7	8	LEAD CHOREOGRAPHER	2nd	6	2.20	100		-100	50		-50.0	48533
28/10/2017	MV	8	1	IT'S SOMEWHAT	3rd	4.60	1.90	100		-100	10		-10.0	48523
28/10/2017	Randwick	8	13	SIR PLUSH (NZ)		5		100		-100	100		-100.0	48423
28/10/2017	MV	9	8	WINX	WON	1.18	1.04	100	118	18	10	11.8	1.8	48425
28/10/2017	Randwick	9	2	DARK EYES	3rd	15	3.10	100		-100	50		-50.0	48375
28/10/2017	MV	10	1	CLIFF'S EDGE	2nd	2.60	1.30	100		-100	10		-10.0	48365
4/11/2017	Flem-X	1	1	SNITZEPEG		7.50		100		-100	10		-10.0	48355
4/11/2017	Flem-X	2	1	BRING ME ROSES		4.80		100		-100	10		-10.0	48345
4/11/2017	Flem-X	3	6	LYUBA	WON	7.50	2.50	100	750	650	10	75.0	65.0	48410
4/11/2017	Rosehill	3	2	TANGO RAIN		3.9		100		-100	50		-50.0	48360
4/11/2017	Flem-X	4	9	ALWARD		8.00		100		-100	10		-10.0	48350
4/11/2017	Rosehill	4	2	DARK EYES		5		100		-100	100		-100.0	48250
4/11/2017	Flem-X	5	1	TRAPEZE ARTIST		8.00		100		-100	10		-10.0	48240
4/11/2017	Flem-X	6	14	NOW OR LATER		16.00		100		-100	10		-10.0	48230
4/11/2017	Rosehill	6	1	MORTAR PLATOON (IRE)		10		100		-100	50		-50.0	48180
4/11/2017	Flem-X	7	1	ACE HIGH	WON	7.50	2.80	100	750	650	10	75.0	65.0	48245
4/11/2017	Rosehill	7	2	IN TIMES OF WAR		3.8		100		-100	50		-50.0	48195
4/11/2017	Flem-X	8	10	SOVEREIGN NATION		14.00		100		-100	10		-10.0	48185
4/11/2017	Rosehill	8	11	MY COUNTRY	3rd	7.5	2.00	100		-100	100		-100.0	48085
4/11/2017	Flem-X	9	11	RICH CHARM	WON	5.50	2.20	100	550	450	10	55.0	45.0	48130
4/11/2017	Rosehill	9	1	CRAFTY COP		4.4		100		-100	250		-250.0	47880
7/11/2017	Flem-X	2	3	INVINCIBELLA	2nd	2.35	1.40	100		-100	10		-10.0	47870
7/11/2017	Flem-X	3	9	MILWAUKEE	3rd	7.50	2.60	100		-100	10		-10.0	47860
7/11/2017	Flem-X	4	3	GRANDDUKEOFTUSCANY		5.50		100		-100	10		-10.0	47850
7/11/2017	Flem-X	5	1	PROPERTY		3.60		100		-100	10		-10.0	47840

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
7/11/2017	Flem-X	6	2	OUR CROWN MISTRESS	WON	2.70	1.60	100	270	170	10	27.0	17.0	47857
7/11/2017	Flem-X	7	7	JOHANNES VERMEER	2nd	13.00	4.50	100		-100	10		-10.0	47847
7/11/2017	Flem-X	8	11	LUBITON		5.00		100		-100	10		-10.0	47837
7/11/2017	Flem-X	9	3	FAATINAH	2nd	5.50	2.00	100		-100	10		-10.0	47827
7/11/2017	Flem-X	10	1	FUHRYSK		5.50		100		-100	10		-10.0	47817
9/11/2017	Flem-X	1	10	SO SPLENDID	2nd	10.00	2.60	100		-100	10		-10.0	47807
9/11/2017	Flem-X	2	5	HOGMANAY	2nd	7.00	2.40	100		-100	10		-10.0	47797
9/11/2017	Flem-X	3	5	URBAN RULER		4.00		100		-100	10		-10.0	47787
9/11/2017	Flem-X	4	12	SAVAJU		13.00		100		-100	10		-10.0	47777
9/11/2017	Flem-X	5	1	ULMANN		5.50		100		-100	10		-10.0	47767
9/11/2017	Flem-X	6	3	BADAJOS		5.00		100		-100	10		-10.0	47757
9/11/2017	Flem-X	7	1	SAVAHEAT		21.00		100		-100	10		-10.0	47747
9/11/2017	Flem-X	8	1	ALOISIA		1.80		100		-100	10		-10.0	47737
9/11/2017	Flem-X	9	3	SPLIT LIP		21.00		100		-100	10		-10.0	47727
11/11/2017	Flem-X	2	8	MEET AND GREET		5.50		100		-100	10		-10.0	47717
11/11/2017	Flem-X	3	2	MAN OF HIS WORD		6.50		100		-100	10		-10.0	47707
11/11/2017	Rosehill	3	6	LYCURGUS	2nd	4	2.30	100		-100	10		-10.0	47697
11/11/2017	Flem-X	4	2	LORD ASPEN		5.00		100		-100	10		-10.0	47687
11/11/2017	Rosehill	4	6	BON AMIS	Won	1.3	1.10	100	130	30	50	65.0	15.0	47702
11/11/2017	Flem-X	5	1	QEWY		3.10		100		-100	10		-10.0	47692
11/11/2017	Rosehill	5	5	BE LIKE DAD		7.3		100		-100	50		-50.0	47642
11/11/2017	Flem-X	6	2	PROMPT RESPONSE		5.50		100		-100	10		-10.0	47632
11/11/2017	Flem-X	7	2	REDZEL	WON	4.20	1.80	100	420	320	10	42.0	32.0	47664
11/11/2017	Rosehill	7	4	STONEBROOK		2		100		-100	50		-50.0	47614
11/11/2017	Flem-X	8	7	FOLKSWOOD		5.00		100		-100	10		-10.0	47604
11/11/2017	Rosehill	8	9	ZONK	2nd	3.4	1.60	100		-100	50		-50.0	47554
11/11/2017	Flem-X	9	2	MURAAQEB	2nd	8.50	2.80	100		-100	10		-10.0	47544
11/11/2017	Rosehill	9	2	AFTER ALL THAT		11.4		100		-100	50		-50.0	47494
18/11/2017	San-H	2	4	LADY OF CREBILLY	3rd	6.50	2.40	100		-100	50		-50.0	47444
18/11/2017	Rosehill	2	1	SLOW BURN	2nd	4.4	1.80	100		-100	50		-50.0	47394
18/11/2017	San-H	3	2	GALLIC CHIEFTAIN	ntd	2.35	0.00	100		-100	50		-50.0	47344
18/11/2017	Rosehill	3	4	IMPAVIDO		3.2		100		-100	50		-50.0	47294
18/11/2017	San-H	4	8	OCEAN EMBERS		6.00		100		-100	50		-50.0	47244

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
18/11/2017	San-H	5	1	LUCKY HUSSLER		7.50		100		-100	50		-50.0	47194
18/11/2017	Rosehill	5	5	CABEZA DE VACA	Won	3.2	1.30	100	320	220	100	320.0	220.0	47414
18/11/2017	San-H	6	3	CRYSTAL DREAMER	WON	3.00	1.50	100	300	200	100	300.0	200.0	47614
18/11/2017	Rosehill	6	6	INTERLOCUTER (USA)	Won	1.55	1.10	100	155	55	300	465.0	165.0	47779
18/11/2017	San-H	7	1	ALMANDIN	2nd	3.30	1.40	100		-100	50		-50.0	47729
18/11/2017	Rosehill	7	6	BEST GUESS	Won	2.3	1.20	100	230	130	250	575.0	325.0	48054
18/11/2017	San-H	8	1	SNITZEPEG		5.50		100		-100	100		-100.0	47954
18/11/2017	Rosehill	8	3	REDOUBLE	Won	4.7	1.80	100	470	370	250	1175.0	925.0	48879
18/11/2017	San-H	9	10	PAYROLL	WON	6.60	2.30	100	660	560	50	330.0	280.0	49159
18/11/2017	Rosehill	9	9	TACTICAL ADVANTAGE	2nd	4.6	1.60	100		-100	50		-50.0	49109
18/11/2017	San-H	10	8	PETITION		3.90		100		-100	50		-50.0	49059
25/11/2017	Ball	1	4	ROYAL FASHION	2nd	3.90	1.60	100		-100	10		-10.0	49049
25/11/2017	Ball	2	17	VIA BALCIANO	WON	7.50	2.60	100	750	650	10	75.0	65.0	49114
25/11/2017	Ball	3	6	LYCURGUS		5.00		100		-100	10		-10.0	49104
25/11/2017	Rosehill	3	1	HOGMANAY		6.5		100		-100	50		-50.0	49054
25/11/2017	Rosehill	4	7	ZONK		2.6		100		-100	250		-250.0	48804
25/11/2017	Ball	5	9	PREPARE TO WIN		8.00		100		-100	10		-10.0	48794
25/11/2017	Ball	6	9	SIGA LA VACA	3rd	17.00	3.20	100		-100	10		-10.0	48784
25/11/2017	Rosehill	6	6	JUST DREAMING	2nd	4.2	1.70	100		-100	50		-50.0	48734
25/11/2017	Rosehill	7	17	MISS DUBOIS (NZ)	Won	4.8	2.10	100	480	380	250	1200.0	950.0	49684
25/11/2017	Ball	8	5	GREY LION	3rd	3.70	1.60	100		-100	50		-50.0	49634
25/11/2017	Rosehill	8	9	BON AMIS	2nd	2.3	1.30	100		-100	250		-250.0	49384
25/11/2017	Ball	9	11	DEBONAIRLY	WON	5.00	1.90	100	500	400	100	500.0	400.0	49784
25/11/2017	Rosehill	9	4	DREAMFORCE	Won	3.7	1.70	100	370	270	100	370.0	270.0	50054
25/11/2017	Ball	10	3	SUSPENSE		8.00		100		-100	100		-100.0	49954
2/12/2017	San-H	3	5	LA FLEURETTE		6.00		100		-100	50		-50.0	49904
2/12/2017	Rosehill	3	1	VASSAL (GB)		7.5		100		-100	10		-10.0	49894
2/12/2017	Rosehill	5	6	SEDANZER	Won	2.5	1.30	100	250	150	250	625.0	375.0	50269
2/12/2017	San-H	6	2	CHIAVARI		6.00		100		-100	50		-50.0	50219
2/12/2017	Rosehill	6	4	SAVAPINSKI (NZ)		2.25		100		-100	50		-50.0	50169
2/12/2017	San-H	7	1	JUNGLE EDGE	WON	2.60	1.60	100	260	160	50	130.0	80.0	50249
2/12/2017	Rosehill	7	4	CABEZA DE VACA		3.4		100		-100	250		-250.0	49999
2/12/2017	San-H	8	5	AL HARAM		11.00		100		-100	50		-50.0	49949

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
2/12/2017	Rosehill	8	12	GLENALL	2nd	7	2.60	100		-100	250		-250.0	49699
2/12/2017	San-H	9	9	DATA POINT		3.80		100		-100	50		-50.0	49649
2/12/2017	Rosehill	9	6	BEST GUESS		4.8		100		-100	100		-100.0	49549
9/12/2017	Pak	2	6	WHYOUASK		5.00		100		-100	10		-10.0	49539
9/12/2017	Pak	3	8	PARTHESIA		10.00		100		-100	10		-10.0	49529
9/12/2017	Pak	4	2	LABUAN STAR		11.00		100		-100	10		-10.0	49519
9/12/2017	Rosehill	4	2	OVERSTEP		7		100		-100	50		-50.0	49469
9/12/2017	Pak	5	1	JUNGLE EDGE	3rd	1.95	1.30	100		-100	50		-50.0	49419
9/12/2017	Rosehill	5	2	CARZOFF (FR)		8.5		100		-100	50		-50.0	49369
9/12/2017	Pak	6	7	RIYADH		8.50		100		-100	50		-50.0	49319
9/12/2017	Rosehill	6	7	NEW UNIVERSE (NZ)	3rd	4.4	1.50	100		-100	50		-50.0	49269
9/12/2017	Pak	7	3	ONCIDIUM RULER	3rd	4.20	1.90	100		-100	200		-200.0	49069
9/12/2017	Rosehill	7	13	BON AMIS	2nd	2.5	1.30	100		-100	100		-100.0	48969
9/12/2017	Pak	8	7	WILLI WILLI	2nd	7.00	2.20	100		-100	50		-50.0	48919
9/12/2017	Rosehill	8	9	PIPELINE	2nd	8.5	2.30	100		-100	50		-50.0	48869
9/12/2017	Pak	9	7	HELL ON EARTH		31.00		100		-100	10		-10.0	48859
9/12/2017	Rosehill	9	5	CELLARMAN	3rd	5	2.00	100		-100	50		-50.0	48809
16/12/2017	Randwick	1	5	AWESOME PLUCK	3rd	2.2		100		-100	10		-10.0	48799
16/12/2017	CAU	3	3	HOLY FREEZE		5.00		100		-100	100		-100.0	48699
16/12/2017	Randwick	3	1	BROADSIDE (NZ)	2nd	1.85	1.30	100		-100	10		-10.0	48689
16/12/2017	CAU	4	6	VINLAND		2.05		100		-100	10		-10.0	48679
16/12/2017	CAU	5	1	MRS GARDENIA		2.50		100		-100	100		-100.0	48579
16/12/2017	Randwick	5	2	MACHINEGUN JUBS	3rd	6	2.00	100		-100	50		-50.0	48529
16/12/2017	CAU	6	12	BINT EL BEDU	3rd	5.50	2.10	100		-100	50		-50.0	48479
16/12/2017	Randwick	6	2	SEDANZER	Won	3.2	1.40	100	320	220	100	320.0	220.0	48699
16/12/2017	CAU	7	10	URBAN RULER		6.50		100		-100	100		-100.0	48599
16/12/2017	Randwick	7	8	INTERLOCUTER (USA)	3rd	4.2	1.80	100		-100	250		-250.0	48349
16/12/2017	CAU	8	1	CRYSTAL DREAMER	WON	3.50	1.70	100	350	250	200	700.0	500.0	48849
16/12/2017	Randwick	8	7	CALANDA		8		100		-100	100		-100.0	48749
16/12/2017	CAU	9	13	CREATIVITY	WON	3.30	1.40	100	330	230	280	924.0	644.0	49393
16/12/2017	Randwick	9	2	REDOUBLE		8		100		-100	50		-50.0	49343
23/12/2017	MV	1	5	ROYAL APPLAUSE	WON	9.50	3.10	100	950	850	50	475.0	425.0	49768
23/12/2017	MV	2	3	ALL OF ME		12.00		100		-100	100		-100.0	49668

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
23/12/2017	Warwick Farm	3	2	CAERLESS CHOICE		4.8		100		-100	10		-10.0	49658
23/12/2017	MV	4	2	BRIGADIER		5.00		100		-100	50		-50.0	49608
23/12/2017	MV	5	1	ONCIDIUM RULER		4.40		100		-100	50		-50.0	49558
23/12/2017	Warwick Farm	5	3	GREAT GLEN (GB)	2nd	8.5	2.30	100		-100	10		-10.0	49548
23/12/2017	MV	6	14	JUST HIFALUTIN	2nd	6.00	2.30	100		-100	50		-50.0	49498
23/12/2017	Warwick Farm	6	1	TEST THE WORLD (NZ)		2.1		100		-100	10		-10.0	49488
23/12/2017	MV	7	8	AEECEE TONG DE	2nd	5.50	2.10	100		-100	50		-50.0	49438
23/12/2017	Warwick Farm	7	5	INVINZABEEL		8		100		-100	10		-10.0	49428
23/12/2017	MV	8	11	INVINCIBLE AL		11.00		100		-100	50		-50.0	49378
23/12/2017	Warwick Farm	8	7	PIPELINE		3.4		100		-100	10		-10.0	49368
23/12/2017	MV	9	6	MR GUSTAVO		41.00		100		-100	50		-50.0	49318
23/12/2017	Warwick Farm	9	3	NOIRE	Won	4	1.60	100	400	300	10	40.0	30.0	49348
26/12/2017	CAU	1	2	ANDREA MANTEGNA	2nd	4.80	2.20	100		-100	50		-50.0	49298
26/12/2017	CAU	2	6	THE MIGHTY JROD		10.00		100		-100	50		-50.0	49248
26/12/2017	CAU	3	13	WINKELMANN	2nd	5.00	1.80	100		-100	10		-10.0	49238
26/12/2017	CAU	5	6	JOCASTA		9.00		100		-100	10		-10.0	49228
26/12/2017	CAU	6	5	JACQUINOT BAY	2nd	6.50	1.70	100		-100	250		-250.0	48978
26/12/2017	CAU	7	7	LUCKY LIBERTY	3rd	6.50	2.10	100		-100	280		-280.0	48698
30/12/2017	San-H	3	5	MOONLOVER	2nd	3.60	1.30	100		-100	50		-50.0	48648
30/12/2017	Randwick	3	5	DREAMFORCE	Won	2.3	1.50	100	230	130	250	575.0	325.0	48973
30/12/2017	San-H	4	2	TWITCHY FRANK	2nd	3.80	1.70	100		-100	100		-100.0	48873
30/12/2017	Randwick	4	5	LADY OF CREBILLY		4.6		100		-100	10		-10.0	48863
30/12/2017	San-H	5	4	KAKANUI		9.00		100		-100	10		-10.0	48853
30/12/2017	Randwick	5	6	BRAVE SONG	Won	1.7	1.50	100	170	70	300	510.0	210.0	49063
30/12/2017	San-H	6	9	GOT THE GOSS		9.50		100		-100	100		-100.0	48963
30/12/2017	San-H	7	13	WHAT A SHOCK		5.50		100		-100	100		-100.0	48863
30/12/2017	Randwick	7	1	MUSIC MAGNATE (NZ)	Won	3.6	1.70	100	360	260	100	360.0	260.0	49123
30/12/2017	San-H	8	7	IF NOT NOW WHEN		6.00		100		-100	10		-10.0	49113
30/12/2017	Randwick	8	3	GAMBLER'S BLUES		6		100		-100	100		-100.0	49013
30/12/2017	San-H	9	10	DOWNHEARTED		17.00		100		-100	10		-10.0	49003
30/12/2017	Randwick	9	10	SUGAR BELLA	Won	4.2	1.70	100	420	320	100	420.0	320.0	49323
1/01/2018	Flem	2	5	JUST HIFALUTIN		5.50		100		-100	10		-10.0	49313
1/01/2018	Flem	3	7	STRAIGHT JACKET		8.50		100		-100	50		-50.0	49263

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
1/01/2018	Flem	4	15	CIVIL DISOBEDIENCE	WON	3.30	1.50	100	330	230	10	33.0	23.0	49286
1/01/2018	Flem	5	9	SHROUDED IN MIST		6.50		100		-100	10		-10.0	49276
1/01/2018	Flem	6	4	CHAMOIS ROAD	3rd	6.50	2.00	100		-100	280		-280.0	48996
1/01/2018	Flem	7	6	ETAH JAMES	2nd	3.90	1.80	100		-100	50		-50.0	48946
1/01/2018	Flem	8	13	SO FAR SOKOOL		4.20		100		-100	10		-10.0	48936
6/01/2018	Randwick	3	2	THE PHAROAH		4.8		100		-100	50		-50.0	48886
6/01/2018	Randwick	5	3	CELLARMAN		2.7		100		-100	50		-50.0	48836
6/01/2018	Randwick	6	6	DON'T TEASE ME		6.5		100		-100	50		-50.0	48786
6/01/2018	Randwick	7	5	QUEEN MISTY	2nd	7	3.30	100		-100	250		-250.0	48536
6/01/2018	Randwick	8	5	NOIRE	2nd	1.9	1.20	100		-100	100		-100.0	48436
6/01/2018	Randwick	9	4	PIPELINE		9		100		-100	50		-50.0	48386
7/01/2018	CAU	1	9	SHENANDOAH	WON	6.50	2.10	100	650	550	50	325.0	275.0	48661
7/01/2018	CAU	2	5	ANDREA MANTEGNA		4.60		100		-100	100		-100.0	48561
7/01/2018	CAU	3	2	AEECEE TONG DE		5.00		100		-100	50		-50.0	48511
7/01/2018	CAU	5	1	TYKIATO	3rd	5.50	2.00	100		-100	50		-50.0	48461
7/01/2018	CAU	6	2	WIDGEE TURF	WON	1.80	1.10	100	180	80	50	90.0	40.0	48501
7/01/2018	CAU	7	3	EPIC MOMENT		4.60		100		-100	10		-10.0	48491
7/01/2018	CAU	8	10	I BOOGI		8.00		100		-100	100		-100.0	48391
7/01/2018	CAU	9	9	MOGADOR		8.50		100		-100	300		-300.0	48091
13/01/2018	Flem	2	4	GOLDEN MANE	ntd	6.00		100		-100	200		-200.0	47891
13/01/2018	Randwick	2	5	PENDELOQUE	Won	4.4	1.80	100	440	340	10	44.0	34.0	47925
13/01/2018	Flem	3	3	JACQUINOT BAY	WON	4.40	1.60	100	440	340	280	1232.0	952.0	48877
13/01/2018	Randwick	3	3	CORDERO	Won	4.6	1.60	100	460	360	10	46.0	36.0	48913
13/01/2018	Flem	4	4	TAGREEDA	3rd	7.00	2.20	100		-100	50		-50.0	48863
13/01/2018	Randwick	4	8	TIP TOP	Won	5.5	1.80	100	550	450	50	275.0	225.0	49088
13/01/2018	Flem	5	5	CRYSTAL SPIRIT	2nd	3.00	1.40	100		-100	50		-50.0	49038
13/01/2018	Randwick	5	1	MACHINEGUN JUBS	2nd	4.2	2.40	100		-100	50		-50.0	48988
13/01/2018	Randwick	6	6	DREAMFORCE	Won	2.7	1.80	100	270	170	100	270.0	170.0	49158
13/01/2018	Flem	7	3	DOLLAR FOR DOLLAR	3rd	3.90	1.70	100		-100	280		-280.0	48878
13/01/2018	Randwick	7	2	NEW UNIVERSE (NZ)		7		100		-100	50		-50.0	48828
13/01/2018	Flem	8	7	KEN'S DREAM	WON	4.70	1.60	100	470	370	300	1410.0	1110.0	49938
13/01/2018	Randwick	8	5	SUGAR BELLA	Won	1.45	1.20	100	145	45	300	435.0	135.0	50073
13/01/2018	Flem	9	6	SOHO RUBY		4.40		100		-100	100		-100.0	49973

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
13/01/2018	Randwick	9	6	VAUCLUSE BAY		5		100		-100	50		-50.0	49923
20/01/2018	Flem	1	11	MUTARAKEM		6.50		100		-100	50		-50.0	49873
20/01/2018	Flem	2	3	GOODWOOD ZODIAC		4.80		100		-100	50		-50.0	49823
20/01/2018	Randwick	2	3	D'ARGENTO	Won	2.6	2.00	100	260	160	10	26.0	16.0	49839
20/01/2018	Flem	3	1	CIVIL DISOBEDIENCE	3rd	2.30	1.30	100		-100	50		-50.0	49789
20/01/2018	Flem	4	2	ADDISON		2.15		100		-100	100		-100.0	49689
20/01/2018	Randwick	4	4	CELLARMAN	Won	3.9	2.00	100	390	290	100	390.0	290.0	49979
20/01/2018	Randwick	5	3	HIDDEN PEARL		5.5		100		-100	100		-100.0	49879
20/01/2018	Randwick	6	1	CARZOFF (FR)	Won	7.6	2.70	100	760	660	50	380.0	330.0	50209
20/01/2018	Flem	7	4	NATURE STRIP	WON	1.50	1.10	100	150	50	50	75.0	25.0	50234
20/01/2018	Randwick	7	4	LEVEL EIGHT	2nd	3.5	1.50	100		-100	50		-50.0	50184
20/01/2018	Flem	8	1	FLAMBERGE		9.00		100		-100	50		-50.0	50134
20/01/2018	Randwick	8	5	FORTENSKY	2nd	4.8	2.00	100		-100	50		-50.0	50084
20/01/2018	Flem	9	10	MALAISE	WON	4.40	1.90	100	440	340	300	1320.0	1020.0	51104
20/01/2018	Randwick	9	5	SIREN'S FURY	3rd	4.6	1.70	100		-100	50		-50.0	51054
27/01/2018	CAU	1	6	PRETTY PUNK		5.50		100		-100	50		-50.0	51004
27/01/2018	Rosehill	3	3	NEW UNIVERSE (NZ)	3rd	6.5	1.60	100		-100	50		-50.0	50954
27/01/2018	CAU	4	1	MAGNESIUM ROSE		4.20		100		-100	50		-50.0	50904
27/01/2018	Rosehill	5	3	SAMADOUBT	3rd	3.8	1.50	100		-100	50		-50.0	50854
27/01/2018	CAU	6	5	JESTER HALO	WON	3.80	1.50	100	380	280	50	190.0	140.0	50994
27/01/2018	Rosehill	6	8	WITCHES		11		100		-100	50		-50.0	50944
27/01/2018	CAU	7	2	INDIAN THUNDER		9.50		100		-100	50		-50.0	50894
27/01/2018	Rosehill	7	7	LANCIATO (NZ)	Won	3.6	1.50	100	360	260	250	900.0	650.0	51544
27/01/2018	CAU	8	3	DOLLAR FOR DOLLAR	2nd	3.30	1.60	100		-100	280		-280.0	51264
27/01/2018	Rosehill	8	7	EMPEROR'S WAY	Won	3.6	1.60	100	360	260	250	900.0	650.0	51914
27/01/2018	CAU	9	4	MORTON'S FORK	WON	2.50	1.20	100	250	150	280	700.0	420.0	52334
27/01/2018	Rosehill	9	2	SATIRICAL MAGIC		10		100		-100	50		-50.0	52284
3/02/2018	Rosehill	1	2	FROM WITHIN		6.5		100		-100	10		-10.0	52274
3/02/2018	CAU	3	2	TWITCHY FRANK		2.50		100		-100	50		-50.0	52224
3/02/2018	CAU	4	5	LAST WEEK		2.35		100		-100	50		-50.0	52174
3/02/2018	Rosehill	4	4	CELLARMAN	Won	7	2.10	100	700	600	250	1750.0	1500.0	53674
3/02/2018	CAU	6	3	SNITTY KITTY	2nd	1.75		100		-100	50		-50.0	53624
3/02/2018	Rosehill	6	1	SAMADOUBT		4.4		100		-100	50		-50.0	53574

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
3/02/2018	CAU	7	1	O'LONERA	2nd	17.00	3.30	100		-100	50		-50.0	53524
3/02/2018	Rosehill	7	2	GLOBAL GLAMOUR		4.2		100		-100	100		-100.0	53424
3/02/2018	CAU	8	1	CLIFF'S EDGE	WON	7.50	2.20	100	750	650	100	750.0	650.0	54074
3/02/2018	Rosehill	8	3	VAUCLUSE BAY		5		100		-100	50		-50.0	54024
3/02/2018	CAU	9	5	MALAISE		4.40		100		-100	300		-300.0	53724
3/02/2018	Rosehill	9	12	KAONIC (NZ)		4.2		100		-100	50		-50.0	53674
10/02/2018	CAU	1	7	DOWNHEARTED	2nd	4.20	1.70	100		-100	50		-50.0	53624
10/02/2018	Warwick Farm	2	3	BEIJING BOARD (GB)	Won	4.2	2.40	100	420	320	10	42.0	32.0	53656
10/02/2018	Warwick Farm	3	3	SHE WILL REIGN	Won	1.28	1.10	100	128	28	10	12.8	2.8	53658
10/02/2018	CAU	4	1	GAILO CHOP	WON	2.50	1.70	100	250	150	250	625.0	375.0	54033
10/02/2018	CAU	5	1	SHOALS		3.60		100		-100	50		-50.0	53983
10/02/2018	CAU	6	2	SUPER CASH	WON	5.50	1.70	100	550	450	250	1375.0	1125.0	55108
10/02/2018	Warwick Farm	6	3	SIEGE OF QUEBEC	2nd	3.5	1.50	100		-100	10		-10.0	55098
10/02/2018	CAU	7	7	BLACK SAIL		9.00		100		-100	50		-50.0	55048
10/02/2018	Warwick Farm	7	4	BONNY O'REILLY (NZ)		5		100		-100	10		-10.0	55038
10/02/2018	CAU	8	7	MR SNEAKY		9.00		100		-100	100		-100.0	54938
10/02/2018	Warwick Farm	8	1	SUPPLY AND DEMAND	2nd	3	1.60	100		-100	10		-10.0	54928
10/02/2018	CAU	9	7	PETITION	3rd	5.00	1.70	100		-100	50		-50.0	54878
10/02/2018	Warwick Farm	9	1	ARTLEE		4		100		-100	10		-10.0	54868
17/02/2018	Flem	2	2	KHUTULUN		6.50		100		-100	50		-50.0	54818
17/02/2018	Flem	3	6	SHARING		3.60		100		-100	100		-100.0	54718
17/02/2018	Randwick	3	2	SIZZLING BULLET		9		100		-100	50		-50.0	54668
17/02/2018	Flem	4	2	SIN TO WIN		13.00		100		-100	50		-50.0	54618
17/02/2018	Randwick	4	2	DEPLOY		2.1		100		-100	100		-100.0	54518
17/02/2018	Flem	5	7	ATLANTIC CITY		8.50		100		-100	50		-50.0	54468
17/02/2018	Randwick	5	8	THE PINNACLE	3rd	2.9	1.50	100		-100	100		-100.0	54368
17/02/2018	Flem	6	2	BRING ME ROSES	2nd	9.00	2.40	100		-100	50		-50.0	54318
17/02/2018	Randwick	6	2	PRIZED ICON		7		100		-100	50		-50.0	54268
17/02/2018	Flem	7	2	EMBELLISH		9.50		100		-100	50		-50.0	54218
17/02/2018	Randwick	7	4	MISS GUNPOWDER		9		100		-100	50		-50.0	54168
17/02/2018	Flem	8	1	REDZEL	2nd	1.80	1.20	100		-100	50		-50.0	54118
17/02/2018	Randwick	8	3	ALIZEE	Won	2.4	1.30	100	240	140	10	24.0	14.0	54132
17/02/2018	Flem	9	7	CHAMOIS ROAD		13.00		100		-100	100		-100.0	54032

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
24/02/2018	CAU	1	1	ALMANDIN	2nd	4.60	1.90	100		-100	50		-50.0	53982
24/02/2018	CAU	2	3	MR SO AND SO	3rd	5.00	2.00	100		-100	50		-50.0	53932
24/02/2018	Rosehill	2	3	CELLARMAN	Won	3.3	1.40	100	330	230	100	330.0	230.0	54162
24/02/2018	CAU	3	1	OVERSHARE	WON	3.80	1.40	100	380	280	50	190.0	140.0	54302
24/02/2018	CAU	4	8	SEE ME EXCEED		6.50		100		-100	50		-50.0	54252
24/02/2018	Rosehill	4	8	PENDELOQUE		7.5		100		-100	10		-10.0	54242
24/02/2018	CAU	5	6	FLIPPANT		4.20		100		-100	50		-50.0	54192
24/02/2018	Rosehill	5	4	PROMPT RESPONSE		2.9		100		-100	100		-100.0	54092
24/02/2018	CAU	6	3	BRAVE SMASH	WON	4.80	1.80	100	480	380	300	1440.0	1140.0	55232
24/02/2018	Rosehill	6	1	SUPPLY AND DEMAND	2nd	4	1.50	100		-100	100		-100.0	55132
24/02/2018	Rosehill	7	2	TRAPEZE ARTIST		4.2		100		-100	10		-10.0	55122
24/02/2018	CAU	8	6	FUHRYK		17.00		100		-100	50		-50.0	55072
24/02/2018	Rosehill	8	8	NEW UNIVERSE (NZ)		4.8		100		-100	50		-50.0	55022
24/02/2018	CAU	9	1	HARTNELL	3rd	4.20		100		-100	280		-280.0	54742
24/02/2018	Rosehill	9	2	LOFTY'S MENU	Won	8.5	2.60	100	850	750	50	425.0	375.0	55117
3/03/2018	Flem	2	3	DOUBLE BLUFF		4.00		100		-100	50		-50.0	55067
3/03/2018	Randwick	2	3	ALMOST COURT (NZ)		4		100		-100	250		-250.0	54817
3/03/2018	Flem	3	2	HEAR THE CHANT	WON	3.30	2.00	100	330	230	50	165.0	115.0	54932
3/03/2018	Flem	4	1	OREGON'S DAY	2nd	2.80	1.40	100		-100	50		-50.0	54882
3/03/2018	Randwick	5	8	ARBEITSAM		7		100		-100	100		-100.0	54782
3/03/2018	Flem	6	1	TSHAHITSI		5.00		100		-100	50		-50.0	54732
3/03/2018	Randwick	6	7	WINX	Won	1.1	1.04	100	110	10	100	110.0	10.0	54742
3/03/2018	Flem	7	11	GRUNT	WON	6.00	2.30	100	600	500	50	300.0	250.0	54992
3/03/2018	Randwick	7	2	ALIZEE		2.7		100		-100	10		-10.0	54982
3/03/2018	Flem	8	6	I'M WESLEY	2nd	15.00	3.30	100		-100	50		-50.0	54932
3/03/2018	Randwick	8	4	DIXIE BLOSSOMS	Won	2.7	1.40	100	270	170	100	270.0	170.0	55102
3/03/2018	Flem	9	6	SCARECROW	WON	4.20	1.70	100	420	320	50	210.0	160.0	55262
3/03/2018	Randwick	9	8	GENERALISSIMO		13		100		-100	50		-50.0	55212
10/03/2018	Flem	1	8	CONCEALER	2nd	4.80	1.80	100		-100	50		-50.0	55162
10/03/2018	Randwick	1	6	THE PINNACLE	2nd	3.2	1.40	100		-100	250		-250.0	54912
10/03/2018	Flem	2	5	KINGS WILL DREAM	WON	1.80	1.10	100	180	80	50	90.0	40.0	54952
10/03/2018	Randwick	2	3	HOUTZEN	3rd	3.3	1.40	100		-100	10		-10.0	54942
10/03/2018	Flem	3	12	NOTIO	3rd	4.80	1.80	100		-100	250		-250.0	54692

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
10/03/2018	Flem	5	8	SHOKORA	2nd	7.00	2.20	100		-100	100		-100.0	54592
10/03/2018	Randwick	5	1	REDZEL	Won	1.5	1.04	100	150	50	300	450.0	150.0	54742
10/03/2018	Flem	6	2	BRAVE SMASH	2nd	9.00	3.10	100		-100	100		-100.0	54642
10/03/2018	Randwick	6	3	ENDLESS DRAMA (IRE)		9		100		-100	100		-100.0	54542
10/03/2018	Flem	7	3	SAMOVARE	2nd	3.10	1.40	100		-100	100		-100.0	54442
10/03/2018	Randwick	7	3	KEMENTARI	Won	2.4	1.50	100	240	140	10	24.0	14.0	54456
10/03/2018	Flem	8	9	THE TAJ MAHAL		9.00		100		-100	100		-100.0	54356
10/03/2018	Randwick	8	9	SUGAR BELLA	Won	2.7	1.30	100	270	170	250	675.0	425.0	54781
10/03/2018	Flem	9	3	REGIMEN	2nd	6.00	1.90	100		-100	50		-50.0	54731
10/03/2018	Randwick	9	8	ALWARD (IRE)	2nd	3	1.50	100		-100	100		-100.0	54631
17/03/2018	Flem	1	7	WRITTEN ERA		8.50		100		-100	50		-50.0	54581
17/03/2018	Rosehill	1	5	ZOURKHAN (IRE)		5.5		100		-100	50		-50.0	54531
17/03/2018	Flem	2	4	MURAAHIB		7.00		100		-100	100		-100.0	54431
17/03/2018	Rosehill	2	2	LIBRAN (IRE)	2nd	3.4	1.40	100		-100	250		-250.0	54181
17/03/2018	Flem	3	3	FOX SWIFT		21.00		100		-100	50		-50.0	54131
17/03/2018	Flem	5	2	HUMIDOR	WON	3.00	1.60	100	300	200	250	750.0	500.0	54631
17/03/2018	Rosehill	5	1	DOTHRAKI	Won	15	3.40	100	1500	1400	100	1500.0	1400.0	56031
17/03/2018	Flem	6	12	CONDAMINE		5.00		100		-100	50		-50.0	55981
17/03/2018	Rosehill	6	8	SHUMOOKH		2.9		100		-100	10		-10.0	55971
17/03/2018	Flem	7	12	OVERSHARE		5.50		100		-100	250		-250.0	55721
17/03/2018	Rosehill	7	2	SILENT SEDITION	3rd	10	3.50	100		-100	50		-50.0	55671
17/03/2018	Flem	8	2	PORTMAN		5.50		100		-100	50		-50.0	55621
17/03/2018	Rosehill	8	1	PRIZED ICON		6.5		100		-100	50		-50.0	55571
17/03/2018	Flem	9	2	BLUE TYCOON	3rd	6.50	2.60	100		-100	50		-50.0	55521
17/03/2018	Rosehill	9	1	ETYMOLOGY		19		100		-100	50		-50.0	55471
23/03/2018	MVN	4	3	SUPER TOO	ntd	1.35	0.00	100		-100	50		-50.0	55421
23/03/2018	MVN	5	2	SHOKORA		5.00		100		-100	100		-100.0	55321
23/03/2018	MVN	6	3	SAMOVARE	2nd	2.90	1.30	100		-100	100		-100.0	55221
23/03/2018	MVN	7	2	HELLBENT	WON	10.00	3.20	100	1000	900	300	3000.0	2700.0	57921
23/03/2018	MVN	8	10	TRUE EXCELSIOR	WON	10.00	2.70	100	1000	900	50	500.0	450.0	58371
24/03/2018	Morn	1	4	MATTY		2.30		100		-100	10		-10.0	58361
24/03/2018	Rosehill	1	3	I AM EXCITED	Won	3.6	1.70	100	360	260	10	36.0	26.0	58387
24/03/2018	Morn	2	5	BRIMHAM ROCKS	2nd	4.60	2.50	100		-100	50		-50.0	58337

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
24/03/2018	Rosehill	2	7	NETTOYER	3rd	3.7	1.60	100		-100	50		-50.0	58287
24/03/2018	Rosehill	3	2	LORD FANDANGO (GER)		7		100		-100	10		-10.0	58277
24/03/2018	Morn	4	5	FREEHEARTED		3.60		100		-100	10		-10.0	58267
24/03/2018	Rosehill	4	1	GAILO CHOP (FR)	Won	2.05	1.20	100	205	105	100	205.0	105.0	58372
24/03/2018	Morn	5	7	BRAHMOS	WON	3.50	1.50	100	350	250	10	35.0	25.0	58397
24/03/2018	Rosehill	5	4	WINX	Won	1.2	1.10	100	120	20	100	120.0	20.0	58417
24/03/2018	Morn	6	3	I'M WESLEY	2nd	5.00	2.00	100		-100	100		-100.0	58317
24/03/2018	Morn	7	11	KINGS WILL DREAM	WON	2.10	1.50	100	210	110	100	210.0	110.0	58427
24/03/2018	Morn	8	4	PERUGGIA		8.00		100		-100	10		-10.0	58417
24/03/2018	Rosehill	8	3	IN HER TIME	Won	4.2	1.60	100	420	320	200	840.0	640.0	59057
24/03/2018	Morn	9	6	OUR PEAKY BLINDERS	2nd	2.40	1.50	100		-100	10		-10.0	59047
24/03/2018	Rosehill	9	6	QUILISTA	Won	4.2	1.90	100	420	320	50	210.0	160.0	59207
31/03/2018	CAU	2	3	CRYSTAL FOUNTAIN	WON	5.10	1.90	100	510	410	280	1428.0	1148.0	60355
31/03/2018	Rosehill	2	6	ARBEITSAM	Won	4.2	1.90	100	420	320	100	420.0	320.0	60675
31/03/2018	Rosehill	3	1	DOTHRAKI	2nd	8	2.50	100		-100	100		-100.0	60575
31/03/2018	CAU	4	2	REGIMEN		4.80		100		-100	50		-50.0	60525
31/03/2018	Rosehill	4	2	FOXPLAY		6		100		-100	50		-50.0	60475
31/03/2018	Rosehill	5	2	LEVENDI	Won	4.8	2.00	100	480	380	10	48.0	38.0	60513
31/03/2018	CAU	6	7	PORTMAN		15.00		100		-100	50		-50.0	60463
31/03/2018	Rosehill	6	1	GAILO CHOP (FR)		2.6		100		-100	10		-10.0	60453
31/03/2018	CAU	7	4	ODEON	2nd	2.90	1.50	100		-100	250		-250.0	60203
31/03/2018	CAU	8	6	THEANSWERMIFRIEND		3.90		100		-100	250		-250.0	59953
31/03/2018	Rosehill	8	10	CELLARMAN	Won	6.3	2.30	100	630	530	100	630.0	530.0	60483
31/03/2018	CAU	9	1	MILWAUKEE	3rd	4.00	1.60	100		-100	50		-50.0	60433
31/03/2018	Rosehill	9	5	OSBORNE BULLS	Won	3.3	1.50	100	330	230	250	825.0	575.0	61008
7/04/2018	Bend	1	4	MULTITUDE		19.00		100		-100	50		-50.0	60958
7/04/2018	Bend	2	12	REDCORE	2nd	11.00	2.50	100		-100	10		-10.0	60948
7/04/2018	Randwick	2	1	HOLY SNOW	3rd	4.2	1.80	100		-100	10		-10.0	60938
7/04/2018	Randwick	3	1	CATCHY		8.5		100		-100	10		-10.0	60928
7/04/2018	Bend	4	8	ASHLOR	WON	5.20	1.80	100	520	420	50	260.0	210.0	61138
7/04/2018	Randwick	4	1	SUNCRAZE		6		100		-100	250		-250.0	60888
7/04/2018	Bend	5	14	LA FLEURETTE		14.00		100		-100	10		-10.0	60878
7/04/2018	Randwick	5	2	MASTER OF ARTS (NZ)		12		100		-100	10		-10.0	60868

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
7/04/2018	Bend	6	3	MISS GUNPOWDER	WON	10.60	2.90	100	1060	960	100	1060.0	960.0	61828
7/04/2018	Bend	7	1	SOVEREIGN NATION		17.00		100		-100	50		-50.0	61778
7/04/2018	Randwick	7	1	ACE HIGH	2nd	6	2.10	100		-100	10		-10.0	61768
7/04/2018	Bend	8	5	HOLBIEN	2nd	4.40	2.30	100		-100	10		-10.0	61758
7/04/2018	Randwick	8	1	REDZEL	2nd	2.5	1.30	100		-100	100		-100.0	61658
7/04/2018	Bend	9	6	LEODORO	2nd	7.50	2.60	100		-100	100		-100.0	61558
7/04/2018	Randwick	9	1	HUMIDOR (NZ)		13		100		-100	100		-100.0	61458
14/04/2018	Randwick	2	2	ISAURIAN		2.7		100		-100	10		-10.0	61448
14/04/2018	CAU	3	4	DOUBLE THE MAGIC		4.50		100		-100	50		-50.0	61398
14/04/2018	CAU	4	1	MAGIC CONSOL	WON	7.00	2.20	100	700	600	50	350.0	300.0	61698
14/04/2018	Randwick	4	10	SERENE MISS	Won	7.5	2.60	100	750	650	100	750.0	650.0	62348
14/04/2018	Randwick	5	10	I AM EXCITED	3rd	5	2.00	100		-100	10		-10.0	62338
14/04/2018	CAU	6	4	GOLDEN MANE		7.00		100		-100	250		-250.0	62088
14/04/2018	Randwick	6	2	HIYAAM (NZ)	2nd	4.8	2.00	100		-100	10		-10.0	62078
14/04/2018	CAU	7	4	CATESBY		14.00		100		-100	50		-50.0	62028
14/04/2018	Randwick	7	9	WINX	Won	1.24	1.10	100	124	24	100	124.0	24.0	62052
14/04/2018	CAU	8	1	MILWAUKEE		4.20		100		-100	250		-250.0	61802
14/04/2018	Randwick	8	1	ALMANDIN (GER)		3.9		100		-100	10		-10.0	61792
14/04/2018	CAU	9	6	MAMZELLE TESS		7.50		100		-100	100		-100.0	61692
14/04/2018	Randwick	9	7	SPANISH REEF		7		100		-100	50		-50.0	61642
14/04/2018	Randwick	10	11	SUGAR BELLA		4.6		100		-100	50		-50.0	61592
21/04/2018	CAU	1	3	MY TRUE LOVE		5.00		100		-100	50		-50.0	61542
21/04/2018	CAU	2	3	WIDGEE TURF	2nd	3.50	2.10	100		-100	100		-100.0	61442
21/04/2018	Randwick	2	4	TEST THE WORLD (NZ)	2nd	5	1.80	100		-100	250		-250.0	61192
21/04/2018	Randwick	3	2	DOTHRAKI	3rd	3.4	1.50	100		-100	250		-250.0	60942
21/04/2018	CAU	4	3	KIWIA	2nd	1.95	1.04	100		-100	50		-50.0	60892
21/04/2018	Randwick	4	1	TANGLED	2nd	6	1.70	100		-100	10		-10.0	60882
21/04/2018	CAU	5	1	NATURE STRIP	2nd	1.85	1.30	100		-100	50		-50.0	60832
21/04/2018	CAU	6	1	CLIFF'S EDGE		1.55		100		-100	50		-50.0	60782
21/04/2018	CAU	7	3	BONS AWAY	2nd	4.40	1.90	100		-100	300		-300.0	60482
21/04/2018	Randwick	7	2	BRAVE SMASH (JPN)		8.5		100		-100	100		-100.0	60382
21/04/2018	CAU	8	2	RICH CHARM	WON	2.30	1.40	100	230	130	280	644.0	364.0	60746
21/04/2018	Randwick	8	1	ARBEITSAM		5.5		100		-100	250		-250.0	60496

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
21/04/2018	CAU	9	6	FASTNET TEMPEST	WON	11.00	3.00	100	1100	1000	300	3300.0	3000.0	63496
21/04/2018	Randwick	9	7	OSBORNE BULLS	2nd	2.5	1.40	100		-100	250		-250.0	63246
25/04/2018	Flem	1	3	BENZINI		21.00		100		-100	50		-50.0	63196
25/04/2018	Flem	2	4	LIFE LESS ORDINARY	WON	5.50	1.70	100	550	450	280	1540.0	1260.0	64456
25/04/2018	Flem	4	14	WINKELMANN		4.80		100		-100	50		-50.0	64406
25/04/2018	Flem	5	9	SHEEZDASHING	2nd	5.50	1.90	100		-100	50		-50.0	64356
25/04/2018	Flem	7	4	ICONOCLASM	WON	2.90	1.70	100	290	190	300	870.0	570.0	64926
25/04/2018	Flem	8	1	MILWAUKEE	WON	7.50	2.30	100	750	650	50	375.0	325.0	65251
28/04/2018	CAU	1	6	DIAMOND BOW		4.60		100		-100	100		-100.0	65151
28/04/2018	CAU	2	6	CREATIVITY	WON	5.00	2.00	100	500	400	300	1500.0	1200.0	66351
28/04/2018	CAU	3	1	FIDAAWY		4.40		100		-100	250		-250.0	66101
28/04/2018	CAU	5	6	LAKHONI		31.00		100		-100	50		-50.0	66051
28/04/2018	CAU	7	2	LEATHER'N'LACE	3rd	5.00	2.20	100		-100	50		-50.0	66001
28/04/2018	CAU	8	14	SPANNER HEAD		13.00		100		-100	50		-50.0	65951
28/04/2018	CAU	9	13	NOUMEA	3rd	7.50	2.40	100		-100	100		-100.0	65851
5/05/2018	Flem	2	9	CHARLEVOIX	2nd	9.00	2.20	100		-100	100		-100.0	65751
5/05/2018	Flem	3	9	LIPSTICK LOVER	WON	4.40	1.70	100	440	340	100	440.0	340.0	66091
5/05/2018	Flem	4	4	RENEGADE		6.50		100		-100	50		-50.0	66041
5/05/2018	Rosehill	4	2	O'RACHAEL	2nd	5.5	3.20	100		-100	100		-100.0	65941
5/05/2018	Flem	5	4	LADY ESPRIT	3rd	6.50	2.10	100		-100	100		-100.0	65841
5/05/2018	Rosehill	6	2	ECUADOR (NZ)	2nd	3.6	1.50	100		-100	100		-100.0	65741
5/05/2018	Flem	7	8	LAND OF PLENTY	WON	2.20	1.30	100	220	120	280	616.0	336.0	66077
5/05/2018	Rosehill	7	7	SERENE MISS	3rd	2.3	1.30	100		-100	250		-250.0	65827
5/05/2018	Flem	8	3	TURNITAROUND		7.00		100		-100	50		-50.0	65777
5/05/2018	Rosehill	8	7	BASTIA (NZ)	2nd	7	2.70	100		-100	250		-250.0	65527
5/05/2018	Flem	9	13	MOANA JEWEL		4.40		100		-100	100		-100.0	65427
5/05/2018	Rosehill	9	6	BON AMIS	2nd	2.2	1.30	100		-100	250		-250.0	65177
12/05/2018	CAU	2	7	WORLD OF HOPE		8.50		100		-100	50		-50.0	65127
12/05/2018	CAU	3	4	SNOANO		6.50		100		-100	50		-50.0	65077
12/05/2018	CAU	4	5	PLATINUM ANGEL	WON	3.20	1.50	100	320	220	100	320.0	220.0	65297
12/05/2018	CAU	6	3	SUN QUAN	3rd	3.70	1.60	100		-100	50		-50.0	65247
12/05/2018	CAU	7	8	INN KEEPER	WON	2.40	1.20	100	240	140	50	120.0	70.0	65317
12/05/2018	CAU	8	2	FURRIION	2nd	1.85	1.30	100		-100	50		-50.0	65267

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
12/05/2018	CAU	9	1	HURSLEY	3rd	7.00	2.10	100		-100	50		-50.0	65217
19/05/2018	Flem	2	1	EGYPTIAN BULLET	WON	21.90	5.60	100	2190	2090	50	1095.0	1045.0	66262
19/05/2018	Rosehill	2	2	GAULOIS	3rd	5.5	2.20	100		-100	10		-10.0	66252
19/05/2018	Rosehill	3	5	EPIDEMIC	Won	3	1.50	100	300	200	10	30.0	20.0	66272
19/05/2018	Flem	4	2	QUICK DEFENCE		6.00		100		-100	50		-50.0	66222
19/05/2018	Flem	5	1	BOOM TIME	WON	3.20	1.50	100	320	220	200	640.0	440.0	66662
19/05/2018	Rosehill	5	3	ROMAN SON		1.8		100		-100	50		-50.0	66612
19/05/2018	Flem	6	1	RICH CHARM		3.50		100		-100	280		-280.0	66332
19/05/2018	Rosehill	6	6	ORIENTAL RUNNER	2nd	5.5	2.50	100		-100	250		-250.0	66082
19/05/2018	Flem	7	4	SHERLOCK HOLMES		8.00		100		-100	50		-50.0	66032
19/05/2018	Rosehill	7	3	SPECIAL MISSILE	2nd	3.1	1.40	100		-100	50		-50.0	65982
19/05/2018	Flem	8	5	MOSS 'N' DALE	WON	4.40	1.60	100	440	340	200	880.0	680.0	66662
19/05/2018	Rosehill	8	4	I AM SERIOUS	Won	4.2	1.70	100	420	320	50	210.0	160.0	66822
19/05/2018	Flem	9	1	ICONOCLASM	WON	2.20	1.40	100	220	120	250	550.0	300.0	67122
19/05/2018	Rosehill	9	2	NOIRE		2.8		100		-100	100		-100.0	67022
26/05/2018	San-L	3	8	LYCURGUS	WON	2.50	1.40	100	250	150	50	125.0	75.0	67097
26/05/2018	Randwick	3	1	SAVATIANO	Won	2.7	1.40	100	270	170	50	135.0	85.0	67182
26/05/2018	Randwick	5	4	AFTER ALL THAT		4.8		100		-100	100		-100.0	67082
26/05/2018	San-L	6	1	LUCKY FOR ALL		1.55		100		-100	50		-50.0	67032
26/05/2018	Randwick	6	3	LIVE AND FREE (NZ)	Won	2.4	1.50	100	240	140	10	24.0	14.0	67046
26/05/2018	San-L	7	9	JAWS OF STEEL		4.80		100		-100	100		-100.0	66946
26/05/2018	Randwick	7	3	OUR CENTURY (IRE)	3rd	2.35	1.20	100		-100	10		-10.0	66936
26/05/2018	San-L	8	9	BLACK AND TAN	2nd	11.00	2.80	100		-100	100		-100.0	66836
26/05/2018	Randwick	8	3	PECANS		11		100		-100	100		-100.0	66736
26/05/2018	San-L	9	5	ANDAZ	2nd	5.50	2.00	100		-100	100		-100.0	66636
26/05/2018	Randwick	9	5	SCHUBERT		8.5		100		-100	50		-50.0	66586
2/06/2018	MV	2	1	WILLIAM THOMAS		2.50		100		-100	50		-50.0	66536
2/06/2018	Rosehill	2	2	GRESHAM	Won	2.8	1.30	100	280	180	10	28.0	18.0	66554
2/06/2018	MV	3	5	DIVINE QUALITY	2nd	4.40	1.60	100		-100	50		-50.0	66504
2/06/2018	Rosehill	3	4	CHARLAYNE		5.5		100		-100	10		-10.0	66494
2/06/2018	MV	5	2	HECTOPASCAL	2nd	9.00	2.70	100		-100	100		-100.0	66394
2/06/2018	Rosehill	5	1	NEW TIPPERARY		5.5		100		-100	100		-100.0	66294
2/06/2018	MV	6	10	MAGIC CONSOL		5.50		100		-100	200		-200.0	66094

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
2/06/2018	Rosehill	6	3	PRINCESS POSH	Won	5.9	2.20	100	590	490	250	1475.0	1225.0	67319
2/06/2018	MV	7	10	MAGNAPAL	3rd	12.00	4.30	100		-100	50		-50.0	67269
2/06/2018	Rosehill	7	2	I AM SERIOUS	2nd	2.05	1.30	100		-100	50		-50.0	67219
2/06/2018	MV	8	1	ICONOCLASM	3rd	2.30	1.40	100		-100	50		-50.0	67169
2/06/2018	Rosehill	8	7	SPECIAL MISSILE		3.8		100		-100	100		-100.0	67069
2/06/2018	MV	9	2	CAMDUS		4.40		100		-100	100		-100.0	66969
2/06/2018	Rosehill	9	5	OZARK		5		100		-100	50		-50.0	66919
9/06/2018	Flem	2	6	LYCURGUS	2nd	4.40	2.00	100		-100	50		-50.0	66869
9/06/2018	Flem	3	7	SMOOTH LANDING		7.50		100		-100	50		-50.0	66819
9/06/2018	Randwick	3	1	SHE KNOWS	2nd	4	2.30	100		-100	10		-10.0	66809
9/06/2018	Flem	4	3	JAMINZAH	WON	3.75	2.30	100	375	275	200	750.0	550.0	67359
9/06/2018	Randwick	4	2	ARAJA (IRE)	Ntd	2.7	0.00	100		-100	50		-50.0	67309
9/06/2018	Flem	5	1	ABILITY		8.00		100		-100	280		-280.0	67029
9/06/2018	Randwick	5	4	I AM SERIOUS	Won	2.5	1.50	100	250	150	100	250.0	150.0	67179
9/06/2018	Flem	7	5	COOL CHAP	2nd	9.00	2.60	100		-100	250		-250.0	66929
9/06/2018	Randwick	7	1	DESTINY'S KISS	3rd	4.4	1.80	100		-100	10		-10.0	66919
9/06/2018	Flem	8	3	GREYCLIFFE		13.00		100		-100	50		-50.0	66869
9/06/2018	Randwick	8	1	JUNGLE EDGE	Won	7.5	2.40	100	750	650	100	750.0	650.0	67519
9/06/2018	Flem	9	1	DESPATCH		3.30		100		-100	50		-50.0	67469
9/06/2018	Randwick	9	2	NOIRE	Won	3.5	1.70	100	350	250	50	175.0	125.0	67594
16/06/2018	MV	2	5	LINGUIST		3.40		100		-100	100		-100.0	67494
16/06/2018	Rosehill	2	1	GRESHAM		2.25		100		-100	10		-10.0	67484
16/06/2018	Rosehill	4	3	LA CHICA BELLA	Won	4.5	2.10	100	450	350	250	1125.0	875.0	68359
16/06/2018	MV	5	6	ASHLOR	2nd	4.00	1.50	100		-100	50		-50.0	68309
16/06/2018	Rosehill	5	12	D'BEAK		31		100		-100	50		-50.0	68259
16/06/2018	MV	6	6	BALANCING ACT		5.50		100		-100	50		-50.0	68209
16/06/2018	Rosehill	6	6	HARPER'S CHOICE		4.6		100		-100	100		-100.0	68109
16/06/2018	MV	7	5	LAYEL	2nd	7.00	2.00	100		-100	50		-50.0	68059
16/06/2018	Rosehill	7	2	INVINZABEEL	2nd	5	1.90	100		-100	50		-50.0	68009
16/06/2018	MV	8	1	LITE'N IN MY VEINS		4.60		100		-100	200		-200.0	67809
16/06/2018	Rosehill	8	3	NICTOCK		12		100		-100	50		-50.0	67759
16/06/2018	MV	9	10	MAGIC CONSOL	WON	6.50	1.90	100	650	550	50	325.0	275.0	68034
16/06/2018	Rosehill	9	5	ARANCINI		18		100		-100	50		-50.0	67984

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
16/06/2018	MV	10	6	SPIRIT OF AQUADA		10.00		100		-100	50		-50.0	67934
23/06/2018	Flem	2	1	CREATIVITY		2.35		100		-100	50		-50.0	67884
23/06/2018	Randwick	2	2	REVENIRE	3rd	5	1.90	100		-100	10		-10.0	67874
23/06/2018	Flem	3	7	ORDER OF COMMAND		5.00		100		-100	50		-50.0	67824
23/06/2018	Randwick	3	1	SOLO MISSION (GB)	3rd	4		100		-100	10		-10.0	67814
23/06/2018	Flem	5	3	CHOYSA		7.00		100		-100	50		-50.0	67764
23/06/2018	Randwick	5	3	DARK EYES	2nd	8.5	3.70	100		-100	100		-100.0	67664
23/06/2018	Flem	6	1	GAULOIS	3rd	6.00	2.40	100		-100	50		-50.0	67614
23/06/2018	Randwick	6	9	FILOMENA'S GRACE		5.5		100		-100	50		-50.0	67564
23/06/2018	Flem	7	1	OZI CHOICE	2nd	2.10	1.40	100		-100	50		-50.0	67514
23/06/2018	Randwick	7	1	JUNGLE EDGE	2nd	4	1.70	100		-100	100		-100.0	67414
23/06/2018	Flem	8	6	GUIZOT	3rd	4.80	1.90	100		-100	200		-200.0	67214
23/06/2018	Randwick	8	3	HIGH MIST	Won	4.2	1.50	100	420	320	50	210.0	160.0	67374
23/06/2018	Flem	9	15	YOU'VE BEEN HAD		3.40		100		-100	50		-50.0	67324
23/06/2018	Randwick	9	2	SHE KNOWS	Won	4.4	1.40	100	440	340	100	440.0	340.0	67664
30/06/2018	CAU	3	1	MASCULINO	WON	2.70	1.40	100	270	170	50	135.0	85.0	67749
30/06/2018	Rosehill	3	2	CURDLED		10		100		-100	10		-10.0	67739
30/06/2018	CAU	4	1	SUMMER SHAM		9.00		100		-100	50		-50.0	67689
30/06/2018	Rosehill	4	2	BROOK MAGIC	Ntd	2.35	0.00	100		-100	100		-100.0	67589
30/06/2018	CAU	5	7	RILLITO	WON	2.30	1.30	100	230	130	280	644.0	364.0	67953
30/06/2018	Rosehill	5	3	SWEET VICTORY	2nd	11	3.20	100		-100	50		-50.0	67903
30/06/2018	CAU	6	1	PACODALI	WON	11.00	2.60	100	1100	1000	250	2750.0	2500.0	70403
30/06/2018	Rosehill	6	1	DESTINY'S KISS	2nd	11	2.70	100		-100	10		-10.0	70393
30/06/2018	CAU	7	3	USAIN BOWLER		4.60		100		-100	100		-100.0	70293
30/06/2018	Rosehill	7	1	JUNGLE EDGE		5.5		100		-100	100		-100.0	70193
30/06/2018	CAU	8	3	MALAISE	2nd	5.50	2.00	100		-100	50		-50.0	70143
30/06/2018	Rosehill	8	8	COSMIC ENGINE		8.5		100		-100	50		-50.0	70093
30/06/2018	CAU	9	12	CHATUCHAK		11.00		100		-100	250		-250.0	69843
30/06/2018	Rosehill	9	15	EASY EDDIE	Won	13.2	4.10	100	1320	1220	50	660.0	610.0	70453
7/07/2018	Flem	1	1	CASA DE LAGO	2nd	13.00	3.30	100		-100	100		-100.0	70353
7/07/2018	Flem	2	5	SIXTIES GROOVE	WON	1.70	1.20	100	170	70	50	85.0	35.0	70388
7/07/2018	Flem	3	4	HUSSY'S GLOW		4.40		100		-100	250		-250.0	70138
7/07/2018	Randwick	3	2	BOMBARDING (NZ)		3.7		100		-100	10		-10.0	70128

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
7/07/2018	Flem	4	4	MOUNT KILCOY	2nd	3.70	1.50	100		-100	280		-280.0	69848
7/07/2018	Randwick	4	3	LA CHICA BELLA	Won	4.3	2.40	100	430	330	200	860.0	660.0	70508
7/07/2018	Randwick	5	1	PLYMOUTH ROAD (NZ)		4.8		100		-100	10		-10.0	70498
7/07/2018	Flem	6	8	LA COURBETTE		11.00		100		-100	50		-50.0	70448
7/07/2018	Flem	7	1	NATURE STRIP	WON	1.30	1.20	100	130	30	50	65.0	15.0	70463
7/07/2018	Randwick	7	4	VELADERO		12		100		-100	50		-50.0	70413
7/07/2018	Flem	8	7	MORTON'S FORK		8.00		100		-100	300		-300.0	70113
7/07/2018	Randwick	8	4	REDOUBLE	2nd	3.1	1.60	100		-100	50		-50.0	70063
7/07/2018	Flem	9	8	DIVINE QUALITY		5.00		100		-100	280		-280.0	69783
7/07/2018	Randwick	9	1	SHE KNOWS	2nd	3.9	1.70	100		-100	200		-200.0	69583
14/07/2018	CAU	2	7	MAGNESIUM ROSE	WON	4.00	1.60	100	400	300	250	1000.0	750.0	70333
14/07/2018	CAU	3	5	ANOTHER COLDIE	3rd	4.80	1.60	100		-100	200		-200.0	70133
14/07/2018	Rosehill	4	6	ALASSIO		2.6		100		-100	250		-250.0	69883
14/07/2018	CAU	5	3	RILLITO	2nd	1.90	1.10	100		-100	50		-50.0	69833
14/07/2018	Rosehill	5	1	BRATISLAVA		8		100		-100	50		-50.0	69783
14/07/2018	CAU	6	1	MASCULINO	2nd	2.40	1.50	100		-100	50		-50.0	69733
14/07/2018	Rosehill	6	7	VAUCLUSE BAY	Won	13	3.20	100	1300	1200	50	650.0	600.0	70333
14/07/2018	CAU	7	1	VOODOO LAD	WON	3.50	1.80	100	350	250	280	980.0	700.0	71033
14/07/2018	Rosehill	7	3	DREAMFORCE	Won	3.5	1.70	100	350	250	250	875.0	625.0	71658
14/07/2018	CAU	8	3	AL PASSEM		10.00		100		-100	100		-100.0	71558
14/07/2018	Rosehill	8	11	DRACHENFELS		6.5		100		-100	50		-50.0	71508
14/07/2018	CAU	9	10	BARTHELONA		2.80		100		-100	50		-50.0	71458
14/07/2018	Rosehill	9	2	HIGH MIST		7		100		-100	50		-50.0	71408
21/07/2018	Flem	1	3	NAANTALI	WON	4.00	1.60	100	400	300	280	1120.0	840.0	72248
21/07/2018	Flem	2	3	MA JONES	2nd	10.00	2.60	100		-100	50		-50.0	72198
21/07/2018	Flem	3	2	FALAGO		9.50		100		-100	100		-100.0	72098
21/07/2018	Randwick	4	8	GRESHAM	2nd	3.4	1.40	100		-100	50		-50.0	72048
21/07/2018	Randwick	5	13	BELLA SUCCESS	3rd	5	1.90	100		-100	50		-50.0	71998
21/07/2018	Flem	6	1	BRAVE SONG	WON	3.20	1.50	100	320	220	100	320.0	220.0	72218
21/07/2018	Randwick	6	8	SEAHAMPTON		2.45		100		-100	50		-50.0	72168
21/07/2018	Flem	7	2	MR MONEY BAGS		5.00		100		-100	50		-50.0	72118
21/07/2018	Randwick	7	3	I THOUGHT SO		3.1		100		-100	100		-100.0	72018
21/07/2018	Randwick	8	3	BANDIPUR	Won	3.1	1.50	100	310	210	50	155.0	105.0	72123

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
21/07/2018	Flem	9	4	INVINCIBLE AL	WON	3.80	1.70	100	380	280	200	760.0	560.0	72683
21/07/2018	Randwick	9	1	REDOUBLE		5		100		-100	50		-50.0	72633
28/07/2018	Rosehill	2	3	FALCON ISLAND		4.4		100		-100	10		-10.0	72623
28/07/2018	CAU	4	3	PRINCESS OF QUEENS		3.40		100		-100	280		-280.0	72343
28/07/2018	Rosehill	4	1	CARZOFF (FR)		8		100		-100	50		-50.0	72293
28/07/2018	CAU	5	1	MOUNT KILCOY		2.15		100		-100	50		-50.0	72243
28/07/2018	Rosehill	5	4	TIP TOP		8.5		100		-100	50		-50.0	72193
28/07/2018	CAU	6	2	BONDEIGER	3rd	2.90	1.50	100		-100	50		-50.0	72143
28/07/2018	Rosehill	6	8	FOREIGN TERRITORY (NZ)		4		100		-100	10		-10.0	72133
28/07/2018	CAU	7	2	VEGA MAGIC	WON	2.20	1.50	100	220	120	50	110.0	60.0	72193
28/07/2018	Rosehill	7	1	HIFLYER (NZ)		7.5		100		-100	100		-100.0	72093
28/07/2018	CAU	8	1	SNITZEPEG	WON	5.10	2.10	100	510	410	300	1530.0	1230.0	73323
28/07/2018	Rosehill	8	13	STAR OF MONSOON	3rd	3.2	1.60	100		-100	50		-50.0	73273
28/07/2018	CAU	9	12	CALL ME HANDSOME	3rd	4.20	1.70	100		-100	250		-250.0	73023
28/07/2018	Rosehill	9	2	ENVY OF ALL		6		100		-100	50		-50.0	72973
4/08/2018	MV	2	6	NAANTALI	WON	2.40	1.30	100	240	140	100	240.0	140.0	73113
4/08/2018	Randwick	3	6	RAQEEQ (GB)		3.4		100		-100	10		-10.0	73103
4/08/2018	MV	4	11	KEEP COURTING		17.00		100		-100	50		-50.0	73053
4/08/2018	Randwick	4	4	NICCI'S GOLD		9.5		100		-100	50		-50.0	73003
4/08/2018	Randwick	5	7	GRESHAM		2.8		100		-100	250		-250.0	72753
4/08/2018	MV	6	8	PIONEERTOWN	WON	8.00	2.30	100	800	700	100	800.0	700.0	73453
4/08/2018	Randwick	6	4	SMARTEDGE	3rd	3.7	1.60	100		-100	250		-250.0	73203
4/08/2018	MV	7	11	ANOTHER COLDIE		3.10		100		-100	100		-100.0	73103
4/08/2018	Randwick	7	2	KEMENTARI	2nd	2.4	1.40	100		-100	100		-100.0	73003
4/08/2018	MV	8	1	PACODALI	3rd	2.60	1.20	100		-100	50		-50.0	72953
4/08/2018	Randwick	8	9	SPARKY LAD		9		100		-100	50		-50.0	72903
4/08/2018	MV	9	3	PRINCETON SPIRIT	WON	5.00	2.10	100	500	400	50	250.0	200.0	73103
4/08/2018	Randwick	9	6	SOOTHING	Won	3.3	1.50	100	330	230	250	825.0	575.0	73678
11/08/2018	Flem	1	6	JAAMEH	WON	5.50	2.50	100	550	450	50	275.0	225.0	73903
11/08/2018	Flem	2	4	BANDIPUR	WON	5.00	1.60	100	500	400	50	250.0	200.0	74103
11/08/2018	Rosehill	2	2	TRAFALGAR		11		100		-100	50		-50.0	74053
11/08/2018	Rosehill	3	4	ISLAND MISSILE		4.4		100		-100	50		-50.0	74003
11/08/2018	Flem	4	4	HARMATTAN		4.00		100		-100	100		-100.0	73903

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
11/08/2018	Rosehill	4	5	ISTRIA		4.8		100		-100	100		-100.0	73803
11/08/2018	Rosehill	5	2	TACTICAL ADVANTAGE	2nd	3.5	1.50	100		-100	50		-50.0	73753
11/08/2018	Flem	6	10	ORAKEI OVERLORD		10.00		100		-100	50		-50.0	73703
11/08/2018	Rosehill	6	5	OXFORD TYCOON		4.4		100		-100	10		-10.0	73693
11/08/2018	Flem	7	2	VOODOO LAD	WON	4.60	1.50	100	460	360	50	230.0	180.0	73873
11/08/2018	Rosehill	7	8	HARPER'S CHOICE	Won	5.7	2.10	100	570	470	250	1425.0	1175.0	75048
11/08/2018	Flem	8	1	MOSS 'N' DALE		4.40		100		-100	200		-200.0	74848
11/08/2018	Rosehill	8	1	PRIZED ICON	3rd	8.5	2.70	100		-100	100		-100.0	74748
11/08/2018	Flem	9	8	SIKANDARABAD	WON	4.60	1.80	100	460	360	100	460.0	360.0	75108
11/08/2018	Rosehill	9	1	STAR OF MONSOON		6.5		100		-100	100		-100.0	75008
18/08/2018	CAU	1	8	REMEMBER THE NAME		5.50		100		-100	50		-50.0	74958
18/08/2018	CAU	2	4	CREATIVITY	2nd	4.80	2.10	100		-100	280		-280.0	74678
18/08/2018	Randwick	2	2	RED ALTO	3rd	8	2.20	100		-100	10		-10.0	74668
18/08/2018	Randwick	3	8	ALMANZORA	Won	3	1.40	100	300	200	50	150.0	100.0	74768
18/08/2018	CAU	4	14	DIVINE MR ARTIE		20.00		100		-100	50		-50.0	74718
18/08/2018	Randwick	6	10	WINX	Won	1.24	1.04	100	124	24	100	124.0	24.0	74742
18/08/2018	CAU	7	1	HARTNELL	2nd	9.50	3.20	100		-100	50		-50.0	74692
18/08/2018	Randwick	7	1	LE ROMAIN	Won	2.7	1.30	100	270	170	100	270.0	170.0	74862
18/08/2018	CAU	8	6	BELLA MARTINI		6.00		100		-100	100		-100.0	74762
18/08/2018	Randwick	8	3	ZESTFUL	2nd	9	2.30	100		-100	50		-50.0	74712
18/08/2018	CAU	9	7	CALL ME HANDSOME		3.30		100		-100	250		-250.0	74462
18/08/2018	Randwick	9	5	KAONIC (NZ)	Won	3.2	1.70	100	320	220	50	160.0	110.0	74572
25/08/2018	MV	1	4	MERRIEST	WON	5.50	1.80	100	550	450	200	1100.0	900.0	75472
25/08/2018	Rosehill	1	2	MANDYLION	3rd	4.4	1.70	100		-100	50		-50.0	75422
25/08/2018	Rosehill	2	3	LETTER TO JULIETTE	3rd	6.5	2.70	100		-100	100		-100.0	75322
25/08/2018	MV	4	10	TIFFANY'S LASS	WON	6.30	2.30	100	630	530	50	315.0	265.0	75587
25/08/2018	Rosehill	4	1	SHE KNOWS	2nd	6.5	2.10	100		-100	50		-50.0	75537
25/08/2018	MV	5	12	SHOKORA		6.00		100		-100	250		-250.0	75287
25/08/2018	MV	6	10	MR CLARIFY		7.00		100		-100	50		-50.0	75237
25/08/2018	Rosehill	7	9	AVILIUS (GB)	Won	1.8	1.30	100	180	80	250	450.0	200.0	75437
25/08/2018	MV	8	1	HEY DOC		4.60		100		-100	50		-50.0	75387
25/08/2018	Rosehill	8	3	TREKKING	2nd	3.8	1.70	100		-100	250		-250.0	75137
25/08/2018	MV	9	14	MALAISE	2nd	12.00	2.70	100		-100	100		-100.0	75037

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
25/08/2018	Rosehill	9	3	PARET	Won	2.1	1.30	100	210	110	250	525.0	275.0	75312
1/09/2018	CAU	1	3	JAAMEH		3.00		100		-100	50		-50.0	75262
1/09/2018	Randwick	2	5	ABDON (GB)	2nd	7	2.20	100		-100	50		-50.0	75212
1/09/2018	CAU	3	1	SAMOVARE		8.50		100		-100	280		-280.0	74932
1/09/2018	CAU	4	9	NIGHT'S WATCH	WON	3.30	1.60	100	330	230	280	924.0	644.0	75576
1/09/2018	Randwick	4	4	JUST SHINE (NZ)		7		100		-100	50		-50.0	75526
1/09/2018	CAU	5	9	MR GARCIA	2nd	12.00	2.70	100		-100	50		-50.0	75476
1/09/2018	Randwick	5	1	REDZEL	Won	2.4	1.10	100	240	140	100	240.0	140.0	75616
1/09/2018	CAU	6	2	AYLMERTON		9.00		100		-100	100		-100.0	75516
1/09/2018	Randwick	6	1	LE ROMAIN		2.8		100		-100	50		-50.0	75466
1/09/2018	CAU	7	3	VEGA MAGIC		2.50		100		-100	280		-280.0	75186
1/09/2018	Randwick	7	7	PRIZED ICON		8		100		-100	100		-100.0	75086
1/09/2018	CAU	8	2	BRAVE SMASH	3rd	8.00	2.50	100		-100	250		-250.0	74836
1/09/2018	CAU	9	1	CATCHY		9.00		100		-100	100		-100.0	74736
1/09/2018	Randwick	9	7	BEST OF DAYS (GB)	Won	3.2	1.50	100	320	220	50	160.0	110.0	74846
8/09/2018	MV	1	4	SHARING		11.00		100		-100	50		-50.0	74796
8/09/2018	Rosehill	1	1	MANDYLION	Won	6	2.00	100	600	500	100	600.0	500.0	75296
8/09/2018	MV	3	4	APPROACH DISCREET		2.30		100		-100	100		-100.0	75196
8/09/2018	Rosehill	3	1	DON'T GIVE A DAMN		3.5		100		-100	50		-50.0	75146
8/09/2018	MV	4	2	TRAP FOR FOOLS	WON	4.50	1.90	100	450	350	50	225.0	175.0	75321
8/09/2018	MV	5	2	NATURE STRIP	WON	1.50	1.10	100	150	50	50	75.0	25.0	75346
8/09/2018	Rosehill	5	2	HOME OF THE BRAVE (IRE)	Won	6.7	3.00	100	670	570	100	670.0	570.0	75916
8/09/2018	MV	6	4	SPANISH WHISPER		6.50		100		-100	100		-100.0	75816
8/09/2018	MV	7	6	PEACEFUL STATE	2nd	12.00	3.80	100		-100	250		-250.0	75566
8/09/2018	Rosehill	7	4	EGYPTIAN SYMBOL		14		100		-100	50		-50.0	75516
8/09/2018	MV	8	6	HOMESMAN	2nd	15.00	4.40	100		-100	50		-50.0	75466
8/09/2018	Rosehill	8	4	SHE KNOWS		7.5		100		-100	50		-50.0	75416
8/09/2018	MV	9	3	MOSS 'N' DALE	WON	6.70	2.30	100	670	570	200	1340.0	1140.0	76556
8/09/2018	Rosehill	9	7	ZOURKHAN (IRE)	Won	6.5	2.40	100	650	550	50	325.0	275.0	76831
15/09/2018	Flem	1	1	HIGH CHURCH		9.50		100		-100	200		-200.0	76631
15/09/2018	Flem	2	4	MULTAJA		5.00		100		-100	50		-50.0	76581
15/09/2018	Flem	3	3	FLOW		5.00		100		-100	280		-280.0	76301
15/09/2018	Randwick	3	3	GOODFELLA	2nd	11	3.10	100		-100	50		-50.0	76251

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
15/09/2018	Flem	4	3	BRUTAL	WON	3.00	1.70	100	300	200	50	150.0	100.0	76351
15/09/2018	Randwick	4	2	BRAVE SMASH (JPN)	Ntd	4.8	0.00	100		-100	100		-100.0	76251
15/09/2018	Flem	5	8	I'M WESLEY		9.50		100		-100	50		-50.0	76201
15/09/2018	Randwick	5	2	PIERATA	2nd	3.1	1.40	100		-100	250		-250.0	75951
15/09/2018	Flem	6	2	BELLA MARTINI	2nd	8.50	2.90	100		-100	50		-50.0	75901
15/09/2018	Randwick	6	6	WINX	Won	1.1	1.10	100	110	10	100	110.0	10.0	75911
15/09/2018	Flem	7	1	HAPPY CLAPPER		8.00		100		-100	100		-100.0	75811
15/09/2018	Flem	8	3	NATIVE SOLDIER		3.30		100		-100	100		-100.0	75711
15/09/2018	Randwick	8	5	AVILIUS (GB)	Won	3	1.60	100	300	200	100	300.0	200.0	75911
15/09/2018	Flem	9	10	MR GARCIA		6.00		100		-100	280		-280.0	75631
15/09/2018	Randwick	9	2	TREKKING	Won	3	1.60	100	300	200	50	150.0	100.0	75731
22/09/2018	CAU	1	3	EXTRA BRUT	WON	6.50	2.10	100	650	550	100	650.0	550.0	76281
22/09/2018	CAU	3	1	WRITTEN BY	WON	2.25	1.30	100	225	125	50	112.5	62.5	76344
22/09/2018	CAU	4	9	SHOKORA		6.50		100		-100	250		-250.0	76094
22/09/2018	Rosehill	4	6	SIN TO WIN (NZ)	3rd	4.4	1.70	100		-100	10		-10.0	76084
22/09/2018	CAU	5	7	WHYPEEO		5.00		100		-100	250		-250.0	75834
22/09/2018	Rosehill	5	2	ARBEITSAM		4.8		100		-100	250		-250.0	75584
22/09/2018	CAU	6	7	ASSERTIVE PLAY		6.50		100		-100	50		-50.0	75534
22/09/2018	Rosehill	6	3	DIXIE BLOSSOMS		7.5		100		-100	50		-50.0	75484
22/09/2018	CAU	7	10	NIGHT'S WATCH	WON	2.70	1.50	100	270	170	100	270.0	170.0	75654
22/09/2018	CAU	8	4	OSBORNE BULLS		7.00		100		-100	280		-280.0	75374
22/09/2018	Rosehill	8	9	FIERCE IMPACT (JPN)	2nd	7	2.10	100		-100	50		-50.0	75324
22/09/2018	CAU	9	1	GLOBAL GLAMOUR		7.00		100		-100	50		-50.0	75274
22/09/2018	Rosehill	9	3	ABDON (GB)		8		100		-100	50		-50.0	75224
28/09/2018	MVN	2	1	I AM A STAR	WON	1.70	1.30	100	170	70	50	85.0	35.0	75259
28/09/2018	MVN	3	3	TRAP FOR FOOLS		1.95		100		-100	50		-50.0	75209
28/09/2018	MVN	5	4	LEONARDO DA HINCHI	WON	1.90	1.10	100	190	90	50	95.0	45.0	75254
28/09/2018	MVN	6	11	GOLDEN HALO		4.80		100		-100	100		-100.0	75154
28/09/2018	MVN	7	3	BALL OF MUSCLE		11.00		100		-100	50		-50.0	75104
28/09/2018	MVN	8	9	MOONLOVER	WON	11.40	2.70	100	1140	1040	200	2280.0	2080.0	77184
29/09/2018	Randwick	4	9	ACE HIGH	Won	3.7	1.40	100	370	270	100	370.0	270.0	77454
29/09/2018	Randwick	5	1	REDZEL		3.6		100		-100	50		-50.0	77404
29/09/2018	Randwick	6	3	FIESTA	2nd	6	1.80	100		-100	10		-10.0	77394

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
29/09/2018	Randwick	7	7	UNFORGOTTEN	3rd	4.4	2.00	100		-100	100		-100.0	77294
29/09/2018	Randwick	8	2	BIG DUKE (IRE)		8		100		-100	10		-10.0	77284
29/09/2018	Randwick	9	7	RIGHT OR WRONG	2nd	7.5	2.40	100		-100	50		-50.0	77234
30/09/2018	CAU	2	4	VIOLATE		5.00		100		-100	200		-200.0	77034
30/09/2018	CAU	3	3	BONDEIGER	WON	8.50	2.20	100	850	750	250	2125.0	1875.0	78909
30/09/2018	CAU	4	16	GREY SHADOW	WON	7.00	2.30	100	700	600	250	1750.0	1500.0	80409
30/09/2018	CAU	5	7	TREKKING	WON	3.30	1.40	100	330	230	280	924.0	644.0	81053
30/09/2018	CAU	6	4	GOOD 'N' FAST		7.50		100		-100	100		-100.0	80953
30/09/2018	CAU	7	3	SMART MELODY	WON	2.20	1.50	100	220	120	50	110.0	60.0	81013
30/09/2018	CAU	8	8	HOMESMAN	WON	6.00	1.80	100	600	500	280	1680.0	1400.0	82413
30/09/2018	CAU	9	10	FURRIION	WON	1.90	1.30	100	190	90	50	95.0	45.0	82458
6/10/2018	Flem	2	9	PEACEFUL		6.00		100		-100	10		-10.0	82448
6/10/2018	Flem	3	6	ECKSTEIN	WON	6.10	2.30	100	610	510	10	61.0	51.0	82499
6/10/2018	Randwick	3	3	TAMARACK (NZ)		7		100		-100	50		-50.0	82449
6/10/2018	Randwick	4	3	JUST DREAMING	Ntd	3.3		100		-100	100		-100.0	82349
6/10/2018	Flem	5	2	WINX	WON	1.14	1.04	100	114	14	10	11.4	1.4	82350
6/10/2018	Randwick	5	9	ZOURKHAN (IRE)	Won	3.6	1.80	100	360	260	100	360.0	260.0	82610
6/10/2018	Flem	6	8	QUILISTA	3rd	8.50	2.80	100		-100	10		-10.0	82600
6/10/2018	Randwick	6	1	SANDBAR	2nd	3.7	1.70	100		-100	10		-10.0	82590
6/10/2018	Flem	7	1	AVILIUS	WON	2.45	1.40	100	245	145	10	24.5	14.5	82605
6/10/2018	Flem	8	15	VERRY ELLEEGANT	3rd	4.20	1.90	100		-100	10		-10.0	82595
6/10/2018	Randwick	8	5	I AM SERIOUS	Won	2	1.20	100	200	100	100	200.0	100.0	82695
6/10/2018	Flem	9	5	BELLA MARTINI		11.00		100		-100	10		-10.0	82685
6/10/2018	Randwick	9	10	ARTIES DREAMWINNER		5		100		-100	100		-100.0	82585
13/10/2018	CAU	2	4	FASTNET TEMPEST	2nd	11.00	3.40	100		-100	10		-10.0	82575
13/10/2018	CAU	3	3	MERYL	3rd	4.80	1.50	100		-100	10		-10.0	82565
13/10/2018	CAU	4	2	COOL PASSION		12.00		100		-100	10		-10.0	82555
13/10/2018	Randwick	4	10	GOODFELLA	3rd	4	1.60	100		-100	50		-50.0	82505
13/10/2018	CAU	5	2	VOODOO LAD		2.90		100		-100	10		-10.0	82495
13/10/2018	Randwick	5	1	THE MONSTAR		5.5		100		-100	100		-100.0	82395
13/10/2018	CAU	6	5	SMART MELODY		2.45		100		-100	10		-10.0	82385
13/10/2018	Randwick	6	3	JUNGLE EDGE	2nd	4.6	1.90	100		-100	100		-100.0	82285
13/10/2018	CAU	7	2	JUNGLE CAT		9.00		100		-100	10		-10.0	82275

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
13/10/2018	Randwick	7	1	REDZEL	Won	8.5	2.80	100	850	750	100	850.0	750.0	83025
13/10/2018	CAU	8	6	HOMESMAN		8.00		100		-100	10		-10.0	83015
13/10/2018	Randwick	8	12	EGG TART	3rd	3.1	1.60	100		-100	100		-100.0	82915
13/10/2018	CAU	9	1	THE AUTUMN SUN	WON	1.75	1.20	100	175	75	10	17.5	7.5	82922
13/10/2018	Randwick	9	7	WALL OF FIRE (IRE)		9		100		-100	10		-10.0	82912
13/10/2018	CAU	10	5	GALLIC CHIEFTAIN		5.00		100		-100	10		-10.0	82902
13/10/2018	Randwick	10	2	REVENIRE	2nd	6	2.20	100		-100	50		-50.0	82852
17/10/2018	CAU	3	7	FIFTY STARS	2nd	1.85	1.30	100		-100	10		-10.0	82842
17/10/2018	CAU	4	6	AL GALAYEL		2.80		100		-100	10		-10.0	82832
17/10/2018	CAU	5	1	WRITTEN BY	WON	1.70	1.20	100	170	70	10	17.0	7.0	82839
17/10/2018	CAU	6	1	I AM A STAR	WON	4.40	1.80	100	440	340	10	44.0	34.0	82873
17/10/2018	CAU	7	12	ADDICTIVE NATURE	2nd	3.40	1.50	100		-100	10		-10.0	82863
17/10/2018	CAU	8	2	DANON ROMAN	2nd	4.20	1.60	100		-100	10		-10.0	82853
20/10/2018	CAU	1	1	KHULAASA	2nd	5.00	2.00	100		-100	10		-10.0	82843
20/10/2018	CAU	2	4	RANIER	WON	3.10	1.40	100	310	210	10	31.0	21.0	82864
20/10/2018	CAU	3	6	EDUARDO	WON	3.10	1.40	100	310	210	10	31.0	21.0	82885
20/10/2018	CAU	4	8	FROM WITHIN	WON	4.70	2.10	100	470	370	10	47.0	37.0	82922
20/10/2018	Randwick	4	4	HIGH BRIDGE (GB)		3		100		-100	10		-10.0	82912
20/10/2018	Randwick	5	2	ABDON (GB)		7.5		100		-100	50		-50.0	82862
20/10/2018	Randwick	6	7	ROOSEVELT		2.4		100		-100	10		-10.0	82852
20/10/2018	Randwick	7	3	ECKSTEIN	3rd	6.5	2.20	100		-100	50		-50.0	82802
20/10/2018	CAU	8	18	YOUNGSTAR		7.50		100		-100	10		-10.0	82792
20/10/2018	Randwick	8	6	MAXIMUS		2.8		100		-100	200		-200.0	82592
20/10/2018	CAU	9	3	INVINCIBELLA	2nd	3.50	1.50	100		-100	10		-10.0	82582
20/10/2018	Randwick	9	5	RIGHT OR WRONG		5		100		-100	50		-50.0	82532
20/10/2018	CAU	10	6	DREAMFORCE	2nd	6.50	2.30	100		-100	10		-10.0	82522
26/10/2018	MVN	1	6	FINAL CHOICE	2nd	6.00	2.00	100		-100	10		-10.0	82512
26/10/2018	MVN	2	2	PLEASURING	3rd	2.40	1.20	100		-100	10		-10.0	82502
26/10/2018	MVN	3	1	WIDGEE TURF	2nd	3.20	1.20	100		-100	10		-10.0	82492
26/10/2018	MVN	4	6	THE LORD MAYOR	2nd	7.00	2.10	100		-100	10		-10.0	82482
26/10/2018	MVN	6	5	KEEN ARRAY		13.00		100		-100	10		-10.0	82472
26/10/2018	MVN	7	10	HOUTZEN		6.50		100		-100	10		-10.0	82462
26/10/2018	MVN	8	11	BLACK SAIL	2nd	6.50	2.20	100		-100	10		-10.0	82452

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
27/10/2018	MV	2	4	GUARD OF HONOUR		5.50		100		-100	10		-10.0	82442
27/10/2018	Randwick	2	3	SEXY EYES	Won	2.45	1.50	100	245	145	50	122.5	72.5	82515
27/10/2018	MV	3	2	SAVATIANO		2.00		100		-100	10		-10.0	82505
27/10/2018	MV	4	2	ASSERTIVE PLAY		5.00		100		-100	10		-10.0	82495
27/10/2018	Randwick	4	3	SAMBRO	2nd	3.7	1.80	100		-100	100		-100.0	82395
27/10/2018	MV	5	3	SPIN		5.00		100		-100	10		-10.0	82385
27/10/2018	Randwick	5	2	ZOURKHAN (IRE)		4		100		-100	300		-300.0	82085
27/10/2018	MV	6	3	MYSTIC JOURNEY	WON	3.50	1.70	100	350	250	10	35.0	25.0	82110
27/10/2018	Randwick	6	1	REVENIRE	2nd	2.8	1.20	100		-100	50		-50.0	82060
27/10/2018	MV	7	8	CLIFF'S EDGE	WON	2.90	1.40	100	290	190	10	29.0	19.0	82079
27/10/2018	Randwick	7	1	CHAPELCO		6		100		-100	50		-50.0	82029
27/10/2018	MV	8	3	EGG TART		11.00		100		-100	10		-10.0	82019
27/10/2018	Randwick	8	6	SKY BOY	Won	2.9	1.60	100	290	190	50	145.0	95.0	82114
27/10/2018	MV	9	6	WINX	WON	1.24	1.04	100	124	24	10	12.4	2.4	82116
27/10/2018	Randwick	9	8	BRING A SECRET		7.5		100		-100	50		-50.0	82066
3/11/2018	Flem-X	1	15	ZOUTORI		15.00		100		-100	10		-10.0	82056
3/11/2018	Flem-X	2	2	VERRY ELLEEGANT		2.40		100		-100	10		-10.0	82046
3/11/2018	Flem-X	3	8	WINTER BRIDE		8.00		100		-100	10		-10.0	82036
3/11/2018	Flem-X	4	6	BRIMHAM ROCKS	2nd	4.40	1.80	100		-100	10		-10.0	82026
3/11/2018	Rosehill	4	5	THE LORD MAYOR (NZ)		3		100		-100	100		-100.0	81926
3/11/2018	Flem-X	5	2	ZOUSAIN	2nd	4.00	1.40	100		-100	10		-10.0	81916
3/11/2018	Rosehill	5	5	RAQEEQ (GB)		2.8		100		-100	10		-10.0	81906
3/11/2018	Flem-X	6	15	AMPHITRITE		4.40		100		-100	10		-10.0	81896
3/11/2018	Rosehill	6	5	SCHUBERT	Won	4.4	1.70	100	440	340	250	1100.0	850.0	82746
3/11/2018	Flem-X	7	7	SAVOIE		13.00		100		-100	10		-10.0	82736
3/11/2018	Rosehill	7	8	DAWN DAWN		2.4		100		-100	300		-300.0	82436
3/11/2018	Flem-X	8	7	MISTER SEA WOLF		26.00		100		-100	10		-10.0	82426
3/11/2018	Rosehill	8	4	MAXIMUS		5.5		100		-100	100		-100.0	82326
3/11/2018	Flem-X	9	1	BOOKER	2nd	13.00	4.10	100		-100	10		-10.0	82316
3/11/2018	Rosehill	9	2	DON'T GIVE A DAMN	Won	4.6	1.60	100	460	360	100	460.0	360.0	82676
6/11/2018	Flem-X	2	5	MAMZELLE TESS		6.50		100		-100	10		-10.0	82666
6/11/2018	Flem-X	3	14	MANDELA EFFECT		13.00		100		-100	10		-10.0	82656
6/11/2018	Flem-X	4	4	ETAH JAMES		19.00		100		-100	10		-10.0	82646

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
6/11/2018	Flem-X	5	8	SINGULAR SENSATION		7.00		100		-100	10		-10.0	82636
6/11/2018	Flem-X	6	12	MIRETTE		3.60		100		-100	10		-10.0	82626
6/11/2018	Flem-X	7	5	MUNTAHAA		18.00		100		-100	10		-10.0	82616
6/11/2018	Flem-X	8	7	KIWIA		9.00		100		-100	10		-10.0	82606
6/11/2018	Flem-X	9	9	TVERSKY		7.50		100		-100	10		-10.0	82596
6/11/2018	Flem-X	10	4	PRINCESS POSH	2nd	8.50	2.70	100		-100	10		-10.0	82586
8/11/2018	Flem-X	3	7	SAVACOO	WON	4.20	1.70	100	420	320	10	42.0	32.0	82618
8/11/2018	Flem-X	4	6	ANDAZ	3rd	4.60	1.60	100		-100	10		-10.0	82608
8/11/2018	Flem-X	7	1	MUSWELLBROOK		12.00		100		-100	10		-10.0	82598
8/11/2018	Flem-X	8	1	AMPHITRITE		3.40		100		-100	10		-10.0	82588
10/11/2018	Flem-X	1	2	AL PASSEM	Ntd	3.90	0.00	100		-100	10		-10.0	82578
10/11/2018	Flem-X	2	5	LUCKY FOR ALL		3.00		100		-100	10		-10.0	82568
10/11/2018	Flem-X	3	2	ENBIHAAR		21.00		100		-100	10		-10.0	82558
10/11/2018	Flem-X	4	7	MR SNEAKY		5.00		100		-100	10		-10.0	82548
10/11/2018	Rosehill	4	2	SEXY EYES	Won	1.35	1.20	100	135	35	300	405.0	105.0	82653
10/11/2018	Flem-X	5	7	JAAMEH	WON	3.30	1.50	100	330	230	10	33.0	23.0	82676
10/11/2018	Rosehill	5	7	CHAUSSURE (NZ)		3.4		100		-100	50		-50.0	82626
10/11/2018	Flem-X	6	12	AQUA D'IVINA		9.00		100		-100	10		-10.0	82616
10/11/2018	Rosehill	6	1	SKY BOY	Won	1.9	1.20	100	190	90	50	95.0	45.0	82661
10/11/2018	Flem-X	7	1	REDZEL		3.30		100		-100	10		-10.0	82651
10/11/2018	Rosehill	7	3	TIP TOP		5		100		-100	50		-50.0	82601
10/11/2018	Flem-X	8	3	BLAIR HOUSE		2.50		100		-100	10		-10.0	82591
10/11/2018	Rosehill	8	3	BON AMIS	Won	2.8	1.50	100	280	180	50	140.0	90.0	82681
10/11/2018	Rosehill	9	10	MONTRACHET	3rd	4.4	1.90	100		-100	50		-50.0	82631
17/11/2018	San-H	2	3	YOGI	WON	3.60	1.60	100	360	260	100	360.0	260.0	82891
17/11/2018	San-H	3	7	INTO THE ABYSS		4.40		100		-100	50		-50.0	82841
17/11/2018	San-H	4	7	MURAAQEB	3rd	8.50	2.40	100		-100	100		-100.0	82741
17/11/2018	Rosehill	4	5	EXOTERIC (GB)		4.00		100		-100	250		-250.0	82491
17/11/2018	San-H	5	10	COOL PASSION	WON	4.80	2.00	100	480	380	100	480.0	380.0	82871
17/11/2018	Rosehill	5	2	SNIPPETS LAND	3rd	9.00	2.10	100		-100	100		-100.0	82771
17/11/2018	San-H	6	6	MAN OF HIS WORD		16.00		100		-100	50		-50.0	82721
17/11/2018	Rosehill	6	2	SUNCRAZE		8.50		100		-100	100		-100.0	82621
17/11/2018	San-H	7	12	SEABROOK	2nd	3.90	1.60	100		-100	50		-50.0	82571

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
17/11/2018	Rosehill	7	7	ISAURIAN	Won	2.60	1.40	100	260	160	250	650.0	400.0	82971
17/11/2018	San-H	8	4	THE TAJ MAHAL	WON	3.60	1.60	100	360	260	50	180.0	130.0	83101
17/11/2018	Rosehill	8	5	SEASONS	Won	1.80	1.20	100	180	80	250	450.0	200.0	83301
17/11/2018	San-H	9	10	INVINCIBLE AL		12.00		100		-100	100		-100.0	83201
17/11/2018	Rosehill	9	1	NEWSFAN	2nd	2.20	1.30	100		-100	250		-250.0	82951
17/11/2018	San-H	10	2	OUR CROWN MISTRESS		4.60		100		-100	50		-50.0	82901
24/11/2018	Ball	1	5	SMART COUPE		7.00		100		-100	10		-10.0	82891
24/11/2018	Ball	2	5	VIA BALCIANO		6.00		100		-100	10		-10.0	82881
24/11/2018	Ball	3	3	OCEAN WALZER		4.40		100		-100	10		-10.0	82871
24/11/2018	Rosehill	3	6	DEMERARA	Won	5.80	2.00	100	580	480	50	290.0	240.0	83111
24/11/2018	Rosehill	4	2	SKY BOY	Won	3.40	1.60	100	340	240	250	850.0	600.0	83711
24/11/2018	Ball	5	1	ENBIHAAR		5.00		100		-100	10		-10.0	83701
24/11/2018	Rosehill	5	4	CRADLE MOUNTAIN	Won	2.30	1.40	100	230	130	300	690.0	390.0	84091
24/11/2018	Rosehill	6	2	REDOUBLE	2nd	14.00	4.10	100		-100	50		-50.0	84041
24/11/2018	Rosehill	7	16	RAPTURE MISS	Won	4.40	1.90	100	440	340	100	440.0	340.0	84381
24/11/2018	Ball	8	7	LUVALUVA		12.00		100		-100	50		-50.0	84331
24/11/2018	Rosehill	8	1	VAUCLUSE BAY		16.00		100		-100	50		-50.0	84281
24/11/2018	Ball	9	1	BEL SONIC	WON	9.50	2.60	100	950	850	50	475.0	425.0	84706
24/11/2018	Rosehill	9	7	ZIP A DEE DOO DAH (NZ)	3rd	13.00	2.70	100		-100	50		-50.0	84656
24/11/2018	Ball	10	8	WORKING FROM HOME		7.00		100		-100	50		-50.0	84606
1/12/2018	Rosehill	2	1	EASY EDDIE	3rd	9.50	2.90	100		-100	50		-50.0	84556
1/12/2018	Rosehill	4	3	OUR CENTURY (IRE)	2nd	4.40	2.00	100		-100	100		-100.0	84456
1/12/2018	MV	5	5	MINTHA		3.20		100		-100	50		-50.0	84406
1/12/2018	Rosehill	5	1	TAMARACK (NZ)		6.00		100		-100	10		-10.0	84396
1/12/2018	MV	6	1	ESSENCE OF TERROR	3rd	7.00	1.80	100		-100	50		-50.0	84346
1/12/2018	Rosehill	6	4	PECANS		4.80		100		-100	250		-250.0	84096
1/12/2018	MV	7	4	INVINCIBLE AL	3rd	4.20	1.80	100		-100	200		-200.0	83896
1/12/2018	Rosehill	7	2	INVINCIBLE STAR	Won	3.60	1.60	100	360	260	50	180.0	130.0	84026
1/12/2018	MV	8	8	TOP PROSPECT		3.80		100		-100	200		-200.0	83826
1/12/2018	Rosehill	8	8	REVENIRE		7.00		100		-100	50		-50.0	83776
1/12/2018	MV	9	5	SIRIUS SUSPECT		3.40		100		-100	50		-50.0	83726
1/12/2018	Rosehill	9	5	SEXY EYES		3.30		100		-100	100		-100.0	83626
8/12/2018	Pak	2	4	CASINO FOURTEEN		2.50		100		-100	10		-10.0	83616

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
8/12/2018	Pak	3	4	MISS WAHOO	3rd	4.80	2.10	100		-100	10		-10.0	83606
8/12/2018	Pak	4	3	CALIBRATION		4.80		100		-100	10		-10.0	83596
8/12/2018	Rosehill	4	3	ETYMOLOGY		4.00		100		-100	250		-250.0	83346
8/12/2018	Pak	5	6	PREZADO	WON	9.00	2.80	100	900	800	10	90.0	80.0	83426
8/12/2018	Rosehill	5	2	IRITHEA	Won	7.80	2.80	100	780	680	100	780.0	680.0	84106
8/12/2018	Pak	6	6	OUR BOTTINO		15.00		100		-100	50		-50.0	84056
8/12/2018	Rosehill	6	2	SWEET DEAL	Won	8.10	2.70	100	810	710	50	405.0	355.0	84411
8/12/2018	Pak	7	1	DAL HARRAILD	3rd	4.00	1.70	100		-100	50		-50.0	84361
8/12/2018	Rosehill	7	4	BON AMIS	Won	4.70	2.30	100	470	370	250	1175.0	925.0	85286
8/12/2018	Pak	8	7	SO SI BON		4.20		100		-100	250		-250.0	85036
8/12/2018	Rosehill	8	4	ASTERIUS	3rd	7.00	2.30	100		-100	50		-50.0	84986
8/12/2018	Pak	9	1	THEANSWERMYFRIEND	WON	10.00	3.10	100	1000	900	50	500.0	450.0	85436
8/12/2018	Rosehill	9	6	LISDOONVARNA (NZ)		4.60		100		-100	50		-50.0	85386
15/12/2018	Flem	3	7	BOXACHOCOLATES		7.00		100		-100	100		-100.0	85286
15/12/2018	Randwick	3	4	SEASONS	2nd	2.35	1.40	100		-100	100		-100.0	85186
15/12/2018	Randwick	4	2	OUR CENTURY (IRE)	Won	4.10	2.10	100	410	310	10	41.0	31.0	85217
15/12/2018	Flem	5	1	CHAMOIS ROAD	Won	2.70	1.04	100	270	170	200	540.0	340.0	85557
15/12/2018	Flem	6	9	DECLARES WAR	Won	3.40	1.60	100	340	240	10	34.0	24.0	85581
15/12/2018	Randwick	6	9	CRADLE MOUNTAIN	2nd	1.95	1.40	100		-100	100		-100.0	85481
15/12/2018	Flem	7	10	HOLBIEN		5.50		100		-100	50		-50.0	85431
15/12/2018	Randwick	7	9	DOUBT DEFYING		6.50		100		-100	100		-100.0	85331
15/12/2018	Flem	8	1	PLEASURING		15.00		100		-100	50		-50.0	85281
15/12/2018	Randwick	8	15	ORGANZA	2nd	2.80	1.60	100		-100	50		-50.0	85231
15/12/2018	Flem	9	13	I AM QUEEN		4.20		100		-100	50		-50.0	85181
15/12/2018	Randwick	9	3	GRESHAM	3rd	8.50	2.60	100		-100	50		-50.0	85131
22/12/2018	Flem	3	5	SUPRE	2nd	5.50	2.10	100		-100	50		-50.0	85081
22/12/2018	Warwick Farm	3	1	REVENIRE	2nd	4.60	2.10	100		-100	10		-10.0	85071
22/12/2018	Flem	4	7	ETYMOLOGY	WON	3.80	1.70	100	380	280	200	760.0	560.0	85631
22/12/2018	Warwick Farm	4	4	ARAJA (IRE)		6.00		100		-100	10		-10.0	85621
22/12/2018	Warwick Farm	5	7	MONSIEUR SISU	Won	3.00	1.50	100	300	200	10	30.0	20.0	85641
22/12/2018	Flem	6	6	ORDER OF COMMAND	WON	2.25	1.30	100	225	125	50	112.5	62.5	85704
22/12/2018	Warwick Farm	6	8	THE ART OF THE BAR	2nd	2.10	1.30	100		-100	10		-10.0	85694
22/12/2018	Flem	7	4	HAUNTED	3rd	3.10	1.20	100		-100	250		-250.0	85444

# Elite Top-Rated

10000

								Level \$100 Betting			Elite Top Rated Bet RATIO			
Date	Track	Race	TAB	Horse	Fin	Best Odds	Place Div	Lev Bet	Lev Ret	Lev Profit	Top Ratio BET	Top Ratio RETURN	Top Ratio PROFIT	10000
22/12/2018	Warwick Farm	7	3	SPECTROSCOPE (USA)	2nd	6.50	2.00	100		-100	10		-10.0	85434
22/12/2018	Flem	8	11	CREEDENCE		3.50		100		-100	100		-100.0	85334
22/12/2018	Warwick Farm	8	5	KAPAJACK		3.30		100		-100	10		-10.0	85324
22/12/2018	Flem	9	17	USAIN BOWLER	WON	7.50	2.70	100	750	650	50	375.0	325.0	85649
22/12/2018	Warwick Farm	9	1	BON AMIS		5.50		100		-100	10		-10.0	85639
26/12/2018	Cau	1	2	TWITCHY FRANK	WON	3.80	1.70	100	380	280	10	38.0	28.0	85667
26/12/2018	Cau	3	1	ANGELIC SPIRIT		5.50		100		-100	50		-50.0	85617
26/12/2018	Cau	4	10	IMMACULATE SECRET		6.00		100		-100	10		-10.0	85607
26/12/2018	Cau	5	6	AMADEUS	2nd	3.20	1.50	100		-100	100		-100.0	85507
26/12/2018	Cau	6	1	TORGENSEN	2nd	2.90	1.70	100		-100	200		-200.0	85307
26/12/2018	Cau	7	3	NATIVE SOLDIER	WON	2.50	1.30	100	250	150	280	700.0	420.0	85727
26/12/2018	Cau	8	1	SILENTZ	WON	7.00	2.40	100	700	600	50	350.0	300.0	86027

153400	170075	16675	134840	210867	76027	86027
		10.9%			56.4%	

Elite Top Rated Bets	Winners	S/Rate	Top Ratio Bets	Winners	S/Rate
1534	394	25.7%	1534	394	25.7%
\$4.31896	Average Odds		\$4.31896	Average Odds	
100	Ave Bet		88	Ave Bet	
103	Weeks		103	Weeks	
1,483	Bet Per week		1,304	Bet Per week	
161	Profit Per Week		735	Profit Per Week	
699	Profit Per Month		3,185	Profit Per Month	